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BBenenue

IMpaktuxkym “Enjoy English Part 11I” cocraBieH B COOTBETCTBHHU C THITOBOM
nporpaMMoi  AucuUIUIMHbl «MHOCTpaHHbId s3bIK». CoJepkaHue MpaKkTHKyMa
MOCJIEIOBATENIFHO OTpakaeT BCEe paszelibl pabodeit mporpaMmbl «HOCTpaHHBIM
A3BIK», OTHOCSIIIIMECS K 4eTBepTOMY cemecTpy. [IpakTukym comepxuT 8 pa3menos:
Unit 1. World-famous Scientists, Unit 2. Inventors and their Greatest Inventions, Unit
3. Geography and Political System of Russia, Unit 4. Culture and traditions of the
Russian Federation, Unit 5. Big Cities of Russia, Unit 6. Geography of Great Britain,
Unit 7. Culture and Traditions of Great Britain, Unit 8. London

Kaxaplii u3 pa3nenoB coaepkuT npohecCuoHaTbHO-OPUEHTUPOBAHHbBIE TEKCTHI,
JICKCUKO-TPAMMATHUYCCKUC YIIPA)KHCHUA U TeMaTHUYCCKUHU CJIOBApPb, HAIICIICHHLIC Ha
Pa3BUTHUC HABLIKOB I'OBOPCHUA, YTCHUA WU IMHUCbMA, PACHIMPCHUC CJIOBAPHOTO 3aIraca u
JIMHTBOCTPAHOBEIUECKOr0 KPyro3opa B paMKax 3aTparuBaeMbIX HAIIPABJICHUM.



Unit 1. The Biggest Companies of the World

The secret of business is to know something that nobody else knows.

Starting up

1. Choose three most important factors from those listed below that can make

Aristotle Socrates Onassis

a company successful. Prove your point of you.
a) focusing on how to increase market share;
b) having a strong company culture;
¢) having user-friendly packaging;
d) having good designers who understand the production;
e) responding to the needs of the workforce;
f) starting with a simple business idea that is easy to understand.

2. Which of these companies would you like to work for? Why?

1) a domestic company;
2) a multinational company;
3) a foreign company.

3. Do you agree with the saying of Aristotle Socrates Onassis? Why?

Vocabulary
4, Remember the words.

boardroom

3aJI 3acellaHui

exhausting

Y3HYPHUTEIbHBIN, YTOMUTEIbHBIN

to litter

COpHUTH, MyCOPHUTH

not to be on speaking terms with

HE pa3roBapuBath C K-JI., OBITh B CCOPE

to launch

3aIyCKaTh

to backfire

HEOXKHUJIAHHO TPHUBOJIUTH K OOpaTHBIM
pe3ynbTaTam

to defer a decision

OTKJIAJAbIBATh PCUICHUC

to double sales

YABanWBaTh MPOJAXKH

objection

BO3PAKCHHUC, ITPOTCCT

chairman

npeJice1aTenb
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to agree to the deal

COrJIaCUTHCA C IIPCAIIOKCHHUCM

to suggest npeLiaraTh

to remark 3ameyarb

blueprint IUIaH, MPOEKT
reluctant HEOXOTHBIMN, BBIHYKJICHHBIN
reliance oropa, yBepeHHOCTh
to break up into parts pa30upaTh HA YaCTH

to ignore UTHOPHPOBATh
opportunity BO3MOYKHOCTb
entrepreneur HpeAIPUHUMATEND

to flop HOTEPIIETh HEYy1ady

to speak for oneself TOBOPHTH 3a ce0sl

to merge CIIMBATh, COCIUHSITH
reliance JOBEpHE, YBEPEHHOCTh

to be worth doing smth

CTOHUT 4-J. ACIIATh

waste of time

TpaTa BpEMEHH

to exploit

HCIIOJIB30BAaTh

there's not much point doing smth

HCT CMBbICJIA Y-JI. ACJIaTh

a flood of complaints

HAIUIBIB Ka100

infuriatingly

pazapaxarorie

estimate for smth comes to

OLICHKA 4Y-JI. COCTaBJIACT

to check out

BBICXATh U3 T'OCTUHHUIIBI

to occur to

IMPUXOOUTH B T'OJIOBY K-JI.

boredom

CKyKa

lateral thinking

IAPOKUN KPYT 030D

vital to the survival

’KM3HCHHO Ba)KHBIN JJIs1 BBIDKMBAHHA

previous 0§0JSIN 01070005071
to confuse yTaTh
implementation peanu3anus
on a commercial basis Ha KOMMEPYECKO OCHOBE
counter-productive KOHTPIPOYKTUBHBIN
to turn good ideas into a | mpeBpamark XOpoIne uien B
commercial proposition KOMMEPYECKOE MPEITI0KEHUE
to borrow from 3aMMCTBOBATh y K-JI.
to one’s cost Ha CBOIO Oeny
foresight npeaBUICHIE, TPETYCMOTPUTEIHEHOCTD
to copyright 3alUIATh ABTOPCKUM IPABOM
to cease IIpEKpanaTh
5. Fill in the gaps using the words from the box.
Foresight, boardroom, launch, backfire, objection, blueprint, reluctant,

entrepreneur, ignore .... remark, opportunity, reliance, exploit, estimate for ...
comes to, occur, implement, counter-productive, previous, confuse
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1) 53% of students leave school at the earliest

2) Everyone has already assembled in the for the 9:00
a.m. session.

3) He is a wealthy :

4) He wasted time, because he was to talk about it.

5) He wrote the paper with considerable on the work of other
scientists.

6) His career choice shows a lack of

7) | always him with his brother.

8) I had met them the day.

9) I wondered how I might best his plan.

10) 1" that last

11) It did not to me to mention it.

12) Sometimes it is necessary to your opponent's weakness.

13) The the new product 2,000 $.

14) The of this car was a big occasion.

15) The main to the plan was that it would cost too much.

16) There isa new a for a computer system.

17) Your behaviour is very to the attempt at
saving the contract.

18) Your comments may and cause you a lot of trouble.

6. Pay your attention to the constructions: it is worth doing something /
something is worth doing. They should not be confused.

Compare:

The blueprint is worth implementing.

It is worth implementing this blueprint.

Translate the following sentences from Russian into English.

1) DTy uaero CTOUT MPEeBPaTUTh B KOMMEPYECKOE MPEIIIOKCHHUE.

2) He cTouT OTKIIaABIBATh PEIICHUE 3TOTO BOMPOCA.

3) DTa BO3MOXKHOCTh HE CTOUT TOT'0, YTOOBI €€ UTHOPUPOBAJIH.

4) Ecnu MBI He MOJKEM COTIJIACUTHCS C DTUM MMPEAJIOKCHUCM, CTOUT OTJIOKHUTL €ro
00CYXIEHUE JI0 3aBTPAIITHETO JTHS.

5) Bamur nmpoeKT He CTOUT 00CYKICHHSI.

7. Read the text and find the words and expressions which mean:

is frustrated (paragraph 1), has gone wrong (paragraph 1), a master plan
(paragraph 4), unexpected opportunities (paragraph 4), failed badly (paragraph
5), is obvious (paragraph 5), a creative environment (paragraph 3), it’s not by
chance that (paragraph 4), management expert (paragraph 4), idea-generating
meeting (paragraph 5), viable enterprise (paragraph 5), not telling people where
you got the idea (paragraph 6).



8. Read the text and say if it is true or false:

It is sometimes very difficult to find a right solution to the problem, that seems

to have no solution.

A very simple idea often turns out to be the right one.

Only logic can help one to find a creative idea.

4. High-technology companies seek to merge multinationally because they want to
acquire a competitive edge over the rivals.

5. Inthe book 'Breaking Through one of the first problems the young executive has

to face is a necessity to spend a lot of money on upgrading of the lift system.

Lateral thinking implies looking at the problem in a different and unusual way.

7. At Hewlett-Packard the majority of products were introduced due to the newest
ideas.

8. Creativity does not exist without innovation.

9. Innovation is the successful implementation of creative ideas on a commercial
basis.

10.To discover an idea and to exploit it are different things.

=

W

o

Bright Ideas
The scene is the boardroom of a multinational cosmetics company at the end of an
exhausting all-day meeting. The conference table is littered with papers and empty
mineral water bottles. The financial controller is in panic and the director of R&D is
no longer on speaking terms with the head of marketing. The launch of a new
shampoo has backfired badly. All decisions have to be deferred until the next
meeting. Nobody even wants to think about the next meeting.

At this point a young marketing consultant cuts in. “Ladies and gentlemen, |
have an idea which is guaranteed to double sales of your new shampoo. Now, believe
it or not, my idea can be summed up in just one word and for $30,000 I'll tell you what
it is.” Naturally, objections are raised, but the chairman finally agrees to the deal.
“Here is my idea. You know the instructions you put on the back of the shampoo bottle?
| suggest you add one word to the end. And the word is: “repeat”.”

Not all good ideas are this simple, but in business a surprising number of them
are. At least, they seem simple after they've been thought of - the secret is to think of
them in the first place. As someone once remarked, “If you can't write your idea on
the back of your business card, you don't have an idea.” So, what are the conditions for
creativity in business? And is there a blueprint for having bright ideas? Here's what
the psychologists think:

1. Be a risk-taker. Those who are reluctant to take risks don't innovate.

2. Be illogical. A reliance on logic Kills off ideas before they have a chance to develop.
3. Let yourself be stupid from time to time. Great ideas often start out as stupid ideas.
4. Regularly re-think things. Problem-solving frequently involves breaking up
problems into parts and putting them back together again in a different way.

5. Take advantage of lucky breaks. The most creative people never ignore an
opportunity.

Maybe one reason high-technology companies seek to merge multinationally is
so that they can combine both creative and innovative strength. Anything that won't
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sell isn't worth inventing, it's an expensive waste of time to develop ideas you can't
exploit. But it's even more expensive if your competitors can exploit them. And there's
not much point doing the research if another company is going to take advantage of
it and make the profit.

The lateral thinker

In his book on creative problem-solving, 'Breaking Through', Tom Logsdon tells
the story of a bright young executive hired to manage a San Francisco hotel. One of
the first problems the young executive has to face is a flood of complaints about the
hotel lifts, which are infuriatingly slow. Guests are actually starting to demand rooms
on lower floors. But an upgrade of the lift system is too expansive as the lowest
estimate for reconstruction comes to $200,000. Clearly something else has to be done,
and pretty quickly, before people start checking out.

Finally, a creative solution occurs to the young executive. The key to the
problem, he decides, is boredom. With only the lift doors and a blank wall to stare at,
guests are getting bored, and when people are bored, they tend to complain. So instead
of speeding up the lifts, full-length mirrors are installed both inside and directly outside
the lifts on each floor - at a cost of just $4,000. Now, looking at their reflections in the
mirrors while using the lift, people stop complaining, thereby saving the hotel
$196,000.

This is what Edward De Bono called lateral thinking, and it's the result of
looking at the problem in a different and unusual way. Indeed, reformulating and
redefining a problem is just one of the ways in which you can create a climate for
creativity in business. And an increasing number of companies now see such creative
strategies as vital to their survival.

At 3M, for example, employees spend fifteen per cent of their time on new ideas
and twenty-five per cent of every manager's product portfolio consists of products that
are less than five years old. At Hewlett-Packard more than half their orders in 1992 are
for products introduced in the previous two years. It's a similar story at Glaxo, ICL
and SmithKline Beecham. But creativity would be useless without innovation, and the
two terms should not be confused.

According to the team running creativity courses at the Cranfield School of
Management, creativity is essentially about generating, not judging, ideas. Innovation,
on the other hand, is the successful implementation of those ideas on a commercial
basis. In a brainstorming session, you don't criticise ideas before they are completely
formed. That would be counter-productive. Evaluation starts at the innovation stage,
where you're turning good ideas into a commercial proposition. It means that you
cannot be both creative and innovative at the same time.

For making a discovery is one thing; exploiting it quite another, as the Xerox
Research Centre found out to its cost when its system for making personal computers
was copied by Apple Macintosh. Apple led the market for almost ten years with the
successful desktop system it 'borrowed' from Xerox. But Apple had the foresight to
copyright the system. Xerox didn't. Unfortunately, too many companies fail to see an
opportunity until it ceases to be one.



9. Answer the questions to the text.

1) What scene can be observed in a boardroom of a company at the end of an

exhausting all-day meeting?

2) What idea occurred to a young marketing consultant?

3) Comment on the remark “If you can't write your idea on the back of your
business card, you don't have an idea.” What does it mean?

4) What advice do psychologists give to be creative in business?

5) Have you ever let yourself be stupid to create a new idea?

6) Do you regularly re-think your problems?

7) Why is it an expensive waste of time to develop ideas you can't exploit?
8) What story does Tom Logsdon tell in his book 'Breaking Through'?
9) Can you explain the concept “lateral thinking”?

10) What is vital to the survival of big companies?

11) Why does every manager's product portfolio at Hewlett-Packard consist
of products that are less than five years old?

12) What is creativity according to the team running creativity courses at the
Cranfield School of Management?

13) Why can’t you criticise ideas before they are completely formed?

14) How did Apple Macintosh acquire a competitive edge over Xerox

Research Centre?

Grammar
The Sequence of Tenses

CoriacoBaHre BpPEMEH — rpaMMaTHUYECKOE SIBIICHUE, HE XapaKTEePHOE JJIsi PYCCKOIro
si3p1ka. OCHOBHOE MPABHUIIO: €CJIM B INIABHOM YaCTH MPEII0KEHHUS [IIaroji UMeeT GopMy
NPOIIEAIIET0 BpeMeHH, (POpMbI MPOIIESAIIETO BPEMEHH JOKHBI OBITh UCIIONB30BaHbBI
1 BO BTOPOCTENEHHOM YacTH mpeokenus. [Ipu mepeBoie npsMoii pedd B KOCBEHHYIO
MBI, KaK MIPaBHIIO, CIBUTACMCSI Ha OJHO BpeMs Haszaid: present simple cranosurcs past
simple, past simple cranoButcs past perfect, will nepexoaut 8 would.

The Sequence of Tenses

| think that he lives in New York =
| thought that he lived in New York.
| know that the mother is sleeping. =
| knew that the mother was sleeping.

OnHOBpEMEHHOE JIEUCTBUE

| say: He has returned from London. =
| said that he had returned from London.
I know that he has already bought a new car.
=
I knew that he had already bought a new
car.

[IpenmecrByromiee nercTBre

| suppose that he will send us a letter. =
| supposed that he would send us a letter.

[Tocnenyromniee nercTBue
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IIpaBuJI0 COTJIACOBAHUS BPEMEH

Present Simple Past Simple
| do | did
Present Continuous Past Continuous
He is doing He was doing
Present Perfect Past Perfect
| have done | had done
Past Simple Past Perfect / Past Simple
| did | had done/ | did

(HpOHICI[IIICﬁ IMPOCTOC OCTACTCA HCU3MCHHBIM, CCJIN
UCTIONIBb3YeTCsl YKa3aHue Ha Bpems, a uMeHHo: in 2020,
2 years ago, yesterday, last week, when he came u 1.71.)

Past Continuous

Past Perfect Continuous

| was doing | had been doing
Past Perfect Past Perfect
| had done | had done
Future Future-in-the-Past
| will do .... | would do ....

[Ipu cornacoBaHuM BpeMEH MEHSETCA HE TOJIBKO (hopMa riarosia BO BTOPOCTEIICHHOM
MPEAJIOAKEHUH, HO U 0OCTOSITEILCTBO MECTA M BPEMEHHU B 3aBUCUMOCTH OT KOHTEKCTA.

HN3meHnenue 00CTOATEILCTBA BPCMCHHU N MECTA

here there
this that
these those
now then/ at that moment
today that day
yesterday the day before/ the previous day
a year ago a year before
last night the previous night
tonight that night

Example: | will see you today, he said. — He said that he would see me that day.

10.Analyze the following examples and translate them into Russian.

He says that he knows your friend. | He said that he knew your friend.

He considers that you passed your | He considered that you had passed your
examinations in chemistry.

examinations in chemistry.

year.

He knows that his friend will | He knew that his friend would graduate from the
graduate from the university next | university next year.
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The teacher asks if they can speak | The teacher asked if they could speak English.
English.

They wonder if you finished your | They wondered if you had finished your project
project yesterday. the day before.

She says that she has seen this | She said that she had seen this book in a shop.
book in a shop.

We suppose that their team is| We supposed that their team was working at a
working at a new project. new project.

11. Use the required tense-aspect forms in the following sentences.

1) 1did not know that my friend (fail) an exam.

2) They knew 1 (can) drive a car.

3) The boys said they (have) enough money to return home.

4) | knew he (write) a book at that moment.

5) We thought that she already (obtain) her Master’s degree in Physics.

6) We knew it (be) just a waste of time.

7) She said that the company (defer) the decision and was going to return to that
question in a month.

8) My friend said that the film (be) worth seeing.

9) The company confirmed that its sales (double) the previous year.

10) They agreed that the blueprint (have to be implemented) on a commercial
basis.

12. Translate from Russian into English.

1) Tlpencenarenb cka3aj, 4TO BCTpeya Oblila YyTOMUTEIBHOM.

2) IlpencraBuTeNn KOMITAHUW OTMETHIIN, YTO KOMITAHUS 3aITyCTUT HOBBIA TPOCKT
B CJICYIOIIEM TOJTY.

3) OH nmoATBEPINII, YTO OTJIOKUJI PEIICHHE JaHHOTO BOIIpOCa.

4) VICTIONMHUTENBHBIA TUPEKTOP KOMITAHUM OTMETHJI, YTO KOMIIAHHUS COOHMpaeTcs
YIBOUTH MPOAAKHU.

5) UccnenoBarenu 3asBWIM, 4YTO KOMIIAHMS HE JO/DKHA HMTCHOPHPOBATH
BO3MOXHOCTDB IIPEBpAIATh XOPOIIUE NACH B KOMMCPUYCCKHUEC IMTPCITIOKCHUA.

6) MbI gyMaiu, 94ToO €ro penieHne KOHTPIPOTYKTHBHO.

7) MBI peimim, 4To OH YK€ BbIeXall U3 TOCTHHUIIBI.
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Unit 2. The Company Structure

““Success is not final; failure is not fatal: it is the courage to continue that
counts.” — Winston Churchill.

Starting up

1. Discuss these questions.

1) Read the saying above. Give your comments on it.

2) Would you prefer working for a company or for yourself? Give your pros and
cons?

3) What competencies do you need to have if you plan to work for an
international company?

4) What perks would you like to have?

2. How important are the following perks for you? Work in pairs and discuss
which of them are more / less important for you? Give each one a score from
1 (not important) to 5 (very important).

a reserved parking place having a secretary

a uniform taking holidays when you like
a company car flying business class

having a personal driver having fixed working hours
your name on your door having a flexible schedule
your own office a company credit card

3. Which of the following words can describe good/ bad qualities of a
company? Why?
Bureaucratic / decentralised/ impersonal/ caring/ democratic/ market-driven/
centralised/ dynamic/ professional/ conservative/ hierarchical / progressive

Vocabulary
4. Match the following words to their meanings. Use a dictionary to help you.
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1) subsidiary

a) the most important office of an organization or
company

2) call centre

b) a company that is owned by a larger company

3) service centre

c) awarehouse that stores a manufacturer's goods
temporarily, before they are transported to stores or
customers for sale

4) head office

d) a place where you can have products checked and
repaired and where you can buy parts

5) distribution centre

e) a large office which provides information to
potential customers

6) warehouse

f) alarge building for keeping things that are going to
be sold (not temporarily)

7) branches/ outlets

g) the main office of an organization or company

8) department

h) a person or company that pays people to work for
them

9) chief executive

1) the place from where an organization is controlled

10) employee

j) a part of an organization that does a particular type
of work

11) employer

K) the person with the most important position in a
company or organization

12) headquarters

[) a person or organization that buys things or services
from a shop or business

13) customer

m) someone who is paid to work for a person or
company

5. Fill in the gaps, using the words from the box.

Workforce/ turnover/ profit/ headquarters/ subsidiaries/ employee/ priority/
performance/ demand/ efficient/ increase/ decreased/ customer/ department

1) The company's annual

2) We have a

is around $300 million.
of 2,400 people.

3) The division of a business that is responsible for selling products or services is

called

4) The company

has reached 20,006,000 dollars.

5) The headquarters of the company are in Switzerland.
6) Businesses should always put the first.

7) The company’s

was poor for the first two years.

8) We have

our turnover to 20 %.

9) The company has continued its excellent

10) Sales have

by five percent this year.

11) There was not much

winter.

12) Banks normally give

13) How many

for the manufacturer’s goods in

to large businesses.
does the firm have?
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14) The company is planning to open some

6. Remember the words given below.

in October.

hierarchical nepapaxuaecKuil
pyramidal uMeroIuii popmMy nmupaMuIsl
successive MOCIIE YOI

to make a decision NPUHSTH PEIICHUE
superior PYKOBOJIUTEIH
subordinate ITO{YMHEHHBI I
colleague KOJIJIeTa

staff TIepCOHA
authority BJIACTh

holder BJI/IETICI]
complicated CJIOXKHBIH

according to

corjiaCHo, COOTBCTCTBCHHO

to carry out

BBITIOJIHATD, IIPOBOJHUTH

efficient

3¢ HEeKTUBHBIN

to be concerned with

KacaTbCsia 4-JI.

incompatible goals

HECOBMCCTHMBIC LCJIN

to encourage HOOLIPATH

a range of psn

overlap COBITIaJICHUE

to make a profit MOJTy4aTh MPUOBLIH

to simulate UMUTHPOBATh, MOJICTUPOBATH

to set up CO3/1aBaTh

to deal with HUMETH JIENO C

inherent CBOMCTBEHHBIN, mpuCymuii 4-im (31
BHYTPEHHMIN)

to pass on responsibility to nepe1aBaTh OTBETCTBEHHOCTD K-J1.

solution pelieHne

to insist on HacTauBaTh Ha

to have priority UMETh MPUOPUTET
relational CBOMCTBEHHBIN

to require TpeOOBAThH

to depend on

3aBHUCECTH OT

7. Fill in the gaps using the prepositions from the box.
to/ out/ with/ of/ up/ with/
to/ on/ on

1) We will proceed according plan.
2) They carried the task efficiently and cheerfully.
3) The company is concerned the quality of the production.
4) He has a wide range business interests.
15




5) The company was set 10 years ago.

6) He is easy to deal

7) Do not pass responsibility the other team members.

8) The company insists the highest standards of quality.

9) Your pension will depend your length of employment.
Reading

8. Read the text and say if it is true or false.

1)

2)

3)

4)

5)

6)

7)

8)

9)

At the top of a company of a hierarchical type there is always a superior who is
responsible for the whole company.
In organizations, having a hierarchical or pyramidal structure, power and authority
are delegated downwards beginning at the top, from each manager to
his subordinate.

A staff position is usually excluded from an organizational hierarchy.

Afunctional structure divides the organization into departments based on
their function, for instance, marketing departments cannot take financial decisions.

There are two shortcomings of a functional structure: firstly, separating functions
is unlikely to encourage innovation and, secondly, there is a great rivalry for
success between departments.
As a rule, large organizations manufacturing a range of products have a single
production department.
Businesses can simulate integration, setting up divisions that deal with each other

using internally determined transfer
prices.

In organizations with a matrix structure subordinates report to more than one
superior.

As for teams they also have a shortcoming such as relational problems, as they are
small and have a lot of self-discipline.

Company Structure

Most organizations have a hierarchical or pyramidal structure, with one person or a
group of people at the top, and an increasing number of people below them at each
successive level. There is a clear line or chain of command running down the pyramid.
All the people in the organization know what decisions they are able to make, who
their superior (or boss) is (to whom they report), and who their immediate
subordinates are (to whom they can give instructions).

Some people in an organization have colleagues who help them: for example,

there might be an Assistant to the Marketing Manager. This is known as a staff
position: its holder has no line authority, and is not integrated into the chain of
command, unlike, for example, the Assistant Marketing Manager, who is number two
in the marketing department.
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Yet the activities of most companies are too complicated to be organized in a
single hierarchy of layers. Shortly before the first world war, the French industrialist
Henry Fayol organized his coal-mining business according to the functions that it had
to carry out. He is generally credited with inventing functional organization. Today,
most large manufacturing organizations have a functional structure, including (among
others) production, finance, marketing, sales, and personnel or staff departments. This
means, for example, that the production and marketing departments cannot take
financial decisions without consulting the finance department.

Functional organization is efficient, but there are two standard criticisms.
Firstly, people are usually more concerned with the success of their department than
that of the company, so there are permanent battles between, for example, finance and
marketing, or marketing and production, which have incompatible goals. Secondly,
separating functions is unlikely to encourage innovation.

Yet for a large organization manufacturing a range of products, having a single
production department is generally inefficient. Consequently, most large companies
are decentralized, following the model of Alfred Sloan, who divided General Motors
into separate operating divisions in 1920. Each division had its own engineering,
production and sales departments, made a different category of car (but with some
overlap, to encourage internal competition), and was expected to make a profit.

Businesses that cannot be divided into autonomous divisions with their own
markets can simulate decentralization, setting up divisions that deal with each other
using internally determined transfer prices. Many banks, for example, have established
commercial, corporate, private banking, international and investment divisions.

An inherent problem of hierarchies is that people at lower levels are unable to
make important decisions, but have to pass on responsibility to their boss. One
solution to this is matrix management, in which people report to more than one
superior. For example, a product manager with an idea might be able to deal directly
with managers responsible for a certain market segment and for a geographical region,
as well as the managers responsible for the traditional functions of finance, sales and
production. This is one way of keeping authority at lower levels, but it is not necessarily
a very efficient one. Thomas Peters and Robert Waterman, in their well-known book
“In Search of Excellence”, insist on the necessity of pushing authority and autonomy
down the line, but they argue that one element - probably the product - must have
priority; four-dimensional matrices are far too complex.

A further possibility is to have wholly autonomous, temporary groups or teams
that are responsible for an entire project, and are split up as soon as it is successfully
completed. Teams are often not very good for decision-making, and they run the risk
of relational problems, unless they are small and have a lot of self-discipline. In fact,
they still require a definite leader, on whom their success probably depends.

9. Answer the questions to the text.
1) What company structures have you learnt about?
2) Describe an organization with a hierarchical or pyramidal structure: a) who is at
the top of the structure? b) what is the line of command? c) give you definitions of
a superior and subordinates.
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3) Isastaff position integrated into the chain of command, according to a hierarchical
structure?

4) How was Henry Fayol’s coal-mining business organized?

5) What departments does a company with a functional structure have? What are their
functions?

6) What are the shortcomings of a functional structure? Do you consider them serious
for the company success?

7) Is it efficient for a large manufacturing company to have a single production
department?

8) What does the decentralization of a company mean?

9) What is the inherent problem of hierarchies? How can matrix management help
in this case?

10) What do Thomas Peters and Robert Waterman insist on in their well-known
book “In Search of Excellence”?

11) What is the other solution to the inherent problem of hierarchies?

12) What are the advantages and disadvantages of a team structure?

Grammar
The Passive Voice
The Formation of the Passive Voice
| to be + Participle II |
The simple passive voice Examples

He is asked/ written

Ero cnpammBaroT/ eMy numyT

He is not asked/ written

Ero He cnpammBaroT/ eMy He MUIITYT
Is he asked/ written?

Ero cnpamuBator? / Emy numryT?
was/ were not asked/ written He was asked/ written

Ero cnpamuBanu/ eMy nucaiu

He was not asked/ written

Ero He cripammBanyi/ eMy He MHCaIu
Was he asked/ written?

Ero cnpamuBanu? / Emy nucanu?
Will be asked/ written He will be asked/ written

Ero cipocsit/ eMy HanuiyT

am/ is/ are asked/ written

He will not be asked/ written
Ero He cnpocsat/ eMy HE HAUIITYT

Will he be asked/ written?
Ero cnpocsar? / Emy nanumyt?

Use the passive:
* to move important information (the object of the active sentence) to the beginning.
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Two men are being questioned by the police.

» when we want to be impersonal and not mention the name of the person who performs
the action.

Oil and gas are found beneath the ground or sea.

Study these examples of the simple passive forms:
1. A lot of rise is eaten in Asia.
2. This house was built twenty years ago.
3. We will be taught by another teacher next year.

10. Complete the sentence with the past simple passive form of the verb in
brackets.

1) In ancient times, fires (light) to use smoke as a signal over long
distances.

2) Morse code (invent) by an American called Samuel Morse.

3) The world's first television images (show) to scientists in
Scotland in1926.

4) Radios (use) to broadcast coded messages during the Second
World War.

5) The World Wide Web (design) originally to make it easier for
nuclear physics researchers to communicate.

6) Buying books and CDs over the Internet (make) popular by the
company Amazon.

7) The first mobile phones with cameras (sell) in Japan.

8) Vinyl albums and tapes (replace) by CDs, which are now being
replaced by mp3.

9) The first English dictionary (wrote) by Robert Cawdrey in 1604.

10) The first mass-produced cars (introduce) by the Ford

company in the USA.

11. Rewrite this text using the past passive form of verbs according to the model.
They use a computer to plan the exact shape of the car.
Model: A computer was used to plan the exact shape of the car.

How a toy car was made

In the factory, they used a computer to plan the exact shape of the car. They then fed
this computer program into a machine, and produced a plastic prototype. Then they
produced the actual toy cars in a factory abroad. As far as construction was concerned,
they made the bodies of the car s from plastic. They added small electric motors to the
cars, and then they painted them. They also attached licence plates. Quality control
inspected the cars and then they wrapped them and packed them into cardboard boxes.
They shipped the cars to Britain.

12. Complete the text with the future passive form of the verbs in brackets.
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In recent years many plans (make) for large floating cities with living
accommodation for as many as 50,000 people. One such project which
(advertise) is the Freedom Ship. According to the plans for this project, this huge ship
(construct) from smaller units, which (take) out to sea for final
assembly. The ship (power) by 100 diesel engines, and the residents
on board (carry) around the world continuously. The large number of
people on the ship (provide) with all kinds of entertainment and sports
facilities, and modern recycling methods (use) to save energy on board.
At the time of writing, this project has not been built yet, and it (criticize)
by some people who say it is too expensive. We shall have to wait and see whether this
ambitious plan ever becomes reality.

13. Translate into English using the verbs in Present/ Past / Future Simple Passive.
1) Ero cnpocunu o HoBOM KHure. 2) B cienyromem rogy Ham kiacc OyaeT yduTh
HOBBIN yuutenb. 3) Pabory mpoBepsaT 3aBTpa? 4) DT noMa ObUIM MOCTPOCHBI B
npouuioMm roay? 5) [IpomnuibiM 1eToM MEHS Hay4HiId TU1aBaTh. 6) OTH OMBITHL OyayT
MPOBENICHbI Ha cieayromeM ypoke. 7) JlokyMeHThl ObulM pacredaTaHbl Buepa. §)
Korpa Obuio ornpasieHo 310 nucbMo? 9) OT1o obOopyaoBaHHE ObLIO KYIUIEHO B
IPOILIOM TONY.
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Unit 3 Natural and ecological disasters

Sometimes it takes a natural disaster to reveal a social disaster.
Jim Wallis

Starting up
1. Look at the pictures above and say which of the disasters is natural and
which is caused by human activities.

2. Discuss the following statements:

1) Sometimes it takes a natural disaster to reveal a social disaster.

2) Humanity is responsible for the climate changes taking place nowadays.

3) You have no control over natural disasters. You're helpless.

4) We cannot stop natural disasters but we can arm ourselves with knowledge:
so many lives wouldn't have to be lost if there was enough disaster
preparedness.

5) We could make our plant safer if we started doing about such simple things
as sorting out our garbage, saving water and electricity, using ecologically-
friendly packaging, etc.

6) Unless we take action on climate change, future generations will be roasted,
toasted, fried and grilled. (Christine Lagarde)

Vocabulary

3. Look at the picture and remember the names of the natural disasters and
environmental problems.
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earthquake |

{

! drought

: eruption air/water/soil
forest fire

disasters

global
warming

=~

Environment =~ |Environmental
problems

volcanic ‘ / \

greenhouse
effect

| pollution

4. Match the natural disasters with their descriptions.

a situation in which a lot of water covers an area that is usually
dry, especially when a river becomes too full

a violent storm with very strong winds

a sudden movement of the Earth's surface, often causing severe
damage

a long period when there is no rain and people do not have
enough water

A sudden throw of smoke, fire, melted rocks and ash into the
atmosphere

rain that contains chemicals from pollution and damages plants,
etc.

an increase in the temperature of the air around the world
because of pollution

the gradual warming of the Earth's surface caused by an increase
in pollution and gases in the air.

5. Remember the following words and expressions.

success rate JI0JIsl YCICIITHBIX TOMBITOK
to forecast NpeCKa3bIBaTh

increase YBCIIMYCHHE

accuracy TOYHOCTb

dropwindsond METE030H]T
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to probe the atmosphere

nenath mpoObl aTMOC(eEphl

investigation

HCCJIICOOBAHHUC

sophisticated

CJIOKHBIN

to be out of reach

OBITH BHE JIOCATAaEMOCTH

estimation OILICHKA

essential CYIIECTBEHHBIN, BAYKHBIN
to reduce CHIDKATh

property COOCTBEHHOCTD

to cause BBI3bIBATh

decade IECATUEIIETHE

precise TOYHBIH

current TEUYCHUE

to resurface MOBTOPHO IOSBIIATHCS HA ITOBEPXHOCTH
to absorb IIOIJIOIATH

a sensing device YYBCTBHUTEJILHBIN JaTUNK
altitude BBICOTA

revealing 3]1. ”HPOPMATHBHBIN

to weigh BECUTH

to stay aloft

OCTaBaTbCA B BO3AYXC

to broadcast

Nepe1aBaTh JaHHBIC

receiver nepeIaTInK
humidity BJIAYKHOCTh
variability pa3zHooOpasue

to be beyond a solution

HC UMCTh PCIICHUA

for the time being

Ha JaHHBIA MOMEHT

for instance HATIPUMED

to fail TEpPIETh HEeyauy

to predict Npe/CKa3bIBaTh

to pinpoint TOYHO ONPEICIIATh
simulation MOJICJTUPOBAHKE
conceivable BO3MOJKHBIN, MBICTUMBIN

a storm surge

MTOPMOBAs BOJIHA

devastating pa3pyIIUTENbHBIN
downtown JICITOBOM LIEHTP ropojia
destruction paspylicHue

to suffer from

CTpajath OT

6. Fill in the gaps using the words from the box.

To forecast, to increase, accuracy, investigation, sophisticated, estimation, essential,
to reduce, current, to absorb, equator, altitude, the broadcast of data

1) was delayed because of technical difficulties.
2) They're ing rain for this weekend.

23




3) Violent storms are on the

4) Wind speed s with altitude.

5) I'm not sure about the of their information.

6) The subjects for this were selected randomly.

7) The project needs calculations.

8) In my , the hurricane is going to strike Florida
tomorrow.

9) For the experiment to be valid, it is to record the
data accurately.

10) I the problem to a few simple questions.

11) The boat drifted with the until it was miles
from shore.

12) Plants carbon dioxide.

13) The divides the Earth into two
hemispheres.

14) We're flying at an of 40,000 feet.

7. Read the text below and find synonyms for the following words:

to predict, precision, to hit, research, important, complicated, beyond reach, to
enlarge, to lower, to evaluate, to do harm.

Reading

8.

™ >

@m

Read the text about hurricanes. Choose from the list (A- G) the sentence
which best summarises each part (1-6) of the article. There is an extra
sentence which you do not need to use.

. A hurricane can cause a lot of damage if it strikes unexpectedly.

GPS-dropwindsondes gather all the necessary meteorological data while staying
aloft.

. Hurricanes can strike suddenly and the problem of predicting the time and place

where they can cause damage is beyond a solution.

. It is the use of new research instruments that helps to make better predictions

about an approaching hurricane.

. The cycles of hurricane activity depend on the phenomenon called the “Atlantic

Conveyor’.
There is always a chance that a big coastal city will be damaged by a hurricane.
. Though the success rate in forecasting hurricanes has improved there are still a

lot of unsolved problems at least for the time being.

Tracking Hurricanes

1. North American meteorologists from the National Oceanic and Atmospheric
Administration 's Hurricane Research Division have recently improved the success
rate in their forecasting of where hurricanes are likely to hit land by 15 to 30%. This
increase in accuracy is due to the use of instruments called  GPS-dropwindsondes,
which can probe the atmosphere surrounding a hurricane while it is still out at sea.
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The atmospheric characteristics of hurricanes over land are well understood because
investigation is possible with weather balloons having sophisticated meteorological
instruments. When hurricanes are out of reach of balloons, gathering information is
much more difficult. Little is known of the weather conditions that guide hurricanes
towards land.

2. An accurate estimation of where a hurricane will strike is essential in order to reduce
loss of life and property. Hurricane Andrew, the most costly hurricane in U.S. history,
killed 15 people and caused damage of $35 billion dollars in 1902. However, the
category 4 hurricane which struck southeast Florida in 1926 and killed 243 people
would have caused $77 billion if it had struck today. The reason for this is the explosion
in population growth and development along the south-east coast of the U.S. during
the last half century.

3. Hurricanes occur in cycles every few decades, the last intense period in the U.S. was
from 1940 to 1969. 'Camille’, a Category 5 hurricane of such catastrophic force that it
caused over a billion and a half dollars worth of damage at the time and killed 256
people, struck the coast of the Gulf of Mexico in 1969 with winds over 320 km/h. Yet,
for the last quarter century, hurricane activity has been relatively mild. Scientists do
not know the precise reason for the cycles of hurricane activity, but they could be
caused by a phenomenon called the 'Atlantic Conveyor'. This is the name given to the
gigantic current of water that flows cold from the top of the globe slowly along the
Atlantic ocean floor to Antarctica and resurfaces decades later before flowing back
north, absorbing heat as it crosses the equator. Since hurricanes derive their energy
from the heat of warm water, it is thought that an increase in the speed of the' Atlantic
Conveyor' is an indicator of intensifying hurricane activity.

4. The use of GPS-dropwindsondes began in 1997. Small sensing devices dropped
from planes at very high altitudes and over a wide area, they are far more revealing
than previously used sensors. Because they weigh only 0.4 kilograms, they are able to
stay aloft for longer periods and broadcast more data to the ground. Each sonde carries
its own global positioning satellite receiver. The GPS signals received are used to
calculate the direction and speed of wind, and data on temperature, humidity, and
barometric pressure at half second intervals all the way down to the ocean surface.

5. Dropwindsonde information is fed into a special meteorological computer in
Maryland which generates a global computer model of wind patterns. Data analysts
have discovered a greater variability in the winds at sea level than previously believed,
but many forecasting problems are beyond a solution, at least for the time being. For
instance, it is not yet known why hurricanes can suddenly change in intensity; current
computer models often fail to predict whether a hurricane will reach land or else
cannot pinpoint where a strike will take place.

6.0ne surprising result of a recent computer simulation was the destruction of a large
part of downtown New York. Hurricane researchers believe that the city is more likely
than Miami to suffer a direct hit in the near future. Also, certain geographical features
of the coastline near New York make it conceivable that a wall of water called a storm
surge pushed ashore by hurricane winds would cause a devastating flooding of
Manhattan. A storm surge was responsible for the more than 8000 deaths caused by
the hurricane that destroyed the city of Galveston in 1900.
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9. Read the text again and answer the following questions:

1) How do GPS-dropwindsondes gather meteorological data?

2) Why is it sometimes difficult to gather information about hurricanes?

3) What damage did hurricane Andrew cause?

4) What provides the cyclic activity of hurricanes?

5) What phenomenon do we call the Atlantic Conveyor?

6) What does the increase in the speed of the Conveyor indicate?

7) How much do GPS-dropwindsondes weigh?

8) What data do they broadcast to the ground?

9) Why are GPS-dropwindsondes so handy?

10) How is the meteorological information from GPS-dropwindsondes used

afterwards?

11) Why are many forecasting problems still beyond a solution?

12) Can computers models pinpoint where a strike will take place?

13) What big coastal cities can be affected by hurricanes in future?
Grammar
Conditional Sentences
Y ci10BHBIC MMpCIJIOKCHHSA B AHTJIMMCKOM SI3BIKE — 3TO MPCIIOKCHHA, COCTOAIINC U3
YCIIOBHSI M CJENCTBUS (pe3ysibTara), KaKk MPaBUIIO, COCAUHEHHBIX COr30M if (ecim).
YcnoBHBIE MpeIoxkeHns BBoasITes coro3amu: if, in case, provided, unless, suppose.
OObIYHO BBIICIIAIOT TPpU BH/JAA YCIOBHBIX Hp@[[J'IO)KGHHfI, OTJINYAKIINXCA CTCIICHBIO
BCPOATHOCTH I[CfICTBI/IH. I/IHOFIIa BBIACIAKOT HyHGBOﬁ THII YCJIOBHBIX HpGIUIO)KGHHfI.
Y ci10BHBIC NPpCIOKCHUA NMEPBOT0 THIIA BbIPAKAIOT PCAJIbHBIC, OCYIICCTBUMBIC
NPENIONIOKEHUS, OTHOCSIIMECS K OyaylieMy BpEeMEHH: B YCJIOBHH IJIarol
ynorpebasiercst B Present Simple, B cnencrBum — B Future Simple. VYcnoBHbIe
NpCAJIOKEHNA BTOPOr0 THIIA BbhIpaXarT MAJIOBCPOATHBIC HJIM HCEBCPOATHBIC
NPEATNONIOKEHNS, OTHOCAIIMECS K HacTosAmeMy Wik Oyaymemy (HO HE K
npoienameMy) BpeMeHu. B ycnoBum rnaron ymorpebiasiercs B Past Simple, B
cienctBun — would + wHbuaMTHB (6€3 YacTHIbl t0). YCIOBHBIE NPEIIOKEHUS
TPETHEro TUIIA BbIPAXKAIOT MMPCAIIOIOKECHNA, OTHOCAIIHUECA K ITPOIICAINICMY BPpEMCHH,
a [IO3TOMY ABJIAOIIUMUCA HCBBIIIOJIJHUMBIMH — 3TO TC I[@ﬁCTBPIH, KOTOPBIC MOI'JIN 6I)I
NPOU30WTH, HO OHU He mpousonuiv. B ycnoBum ucnonwsizyercs Past Perfect, a B
cieacteum — would have + Past Participle.

Ycio Bropocrenennoe ['maBHOE TIpemIOKEHNE
BUE npeaioxenue (ycioBue) (cnenctBue)
If I have time, | will come over. 0e3
9 Ecnu y mens 6yoem 6onvuie | 51 3atioy. BbI
= epemeHi, we usually go out of town.
% If the weather is fine, Mbl 0ObIUHO e30UM 3 20PO0.
= Ecnu nocooa xopowas,
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If I were you,
Eciu 60v1 21 6bi1 Ha sauiem

| would go there myself.
A 6v1 coenan smo cam.

;| summer,

HEepeabHOE
IPOIIL. BP

NPOUUIIbIM J1E€ENTOM,

Ecnu 6v1 ne 6vL10 max scapko

South.

Mbl Obl noexanu Ha oe.

mecme bbl
2. If | had more time, | would come over.
5| Ecnu Ob1 y mens 0110 6onbute | s Obl 3amen.
22| spemenu
& If you knew him better, you wouldn’t think so.
; Ecnu 661 mul 3Han eco ayuwe | mol 661 maxk He OyMal.
@ If it were not raining, | could go out.
§ Ecnu 6v1 ne wen 0021c0b 5 Obl nowien 2ynamo.
=
If you had gone there, you would have met him.
Ecnu 661 met myoa nowen mul Obl €20 ecmpemu.
| If it hadn’t been so hot last | we could have gone to the | BbBI

10. Make sentences, using if and choosing from the boxes.
Example: If we don’t hurry, we will be late for the train.

We don’t hurry,

| can’t get a flight,

You come home late,

| don’t feel well,

You have any problems,

please come in quietly.

| am not going to work.
we'll be late for the train.
I’ll try to help you.

I“Il fly home on Sunday.

| can understand you,

It will be nice,

You will be cold,

What are you going to do,

| am sure they will understand,

you don’t wear a coat.

you don’t pass your exam?
you explain your problem.
you speak slowly.

you can come to the party.

11.Choose the correct form of the verb.

1) If I don’t /won’t have time, | will not come / do not come over.
2) If the weather is / will be fine, we can go to the beach.

3) If the hurricane struck/ had struck yesterday, the damage would have been/

would be more serious.

4) If scientists will manage/ manage to pinpoint the time and place of a hurricane,
this disaster will become/ becomes less dangerous.
5) If we had probed / probed the atmosphere in advance, we would notice/ would
have noticed the approaching storm.
6) If we know/ knew the precise reason for the hurricane cycles, we could forecast/
could have forecast hurricane activity.
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7) It will be hard to avoid victims, if we won’t / don’t predict the time when the
hurricane will reach land.

12.Put the verbs in brackets into the correct form.

1) If I had this tool, I (give) it to you.

2) If he worked more slowly, he (not make) so many mistakes.

3) | could give you his address if I (know) it.

4) If I (know) her better, | (introduce) you.

5) The journey takes about 3 hours by train. You (get) there much sooner, if you
(go) by plane.

6) If he (know) you were away, he (not come).

7) The car (break) so often, if you (have) it serviced regularly.

13.Translate from Russian into English.

1) Ecnu ObI BBI TOMOTJIA MHE BYEpa, sl CMOT OBl 3aKOHIUTH pa0OTy BOBPEMSI.

2) Ecnu Obl mopora Obuia Jiydiiie, Mbl ObI loexaiii ObIcTpee.

3) Ecnu Obl BBI TO3BOHUIIM BUEPA, 51 CMOT OBl IIPUITH.

4) Ecnm ObI y4eHbIC MOTJIH OBI MPEICKa3bIBaTh aKTUBHOCTh YparaHoB, Mbl CMOTJTH
OBl U30€KaTh MHOTUX JKEPTB.

5) Ecnu Obl yparansl He ObUTH HACTOJIBKO OMACHBI, JTIFOAN HE U3ydald Obl MX TaK
THIATENbHO.

6) Ecim Obl MBI MOIJIM TOHATH, IOYEMY YyparaHbl MOT'YT IOTEPSATh CBOKO
WHTEHCUBHOCTD, MBI PEIIIA Obl MHOXKECTBO IIPOOIIEM.

7) Ecnu 3aBTpa OyneT XOpOIIHii MPOrHO3 MOT0/Ibl, MBI TIOEIEM 3a TOPO/I.

8) MbI cCMOKEeM 3aKOHUYUTH MPOEKT, €CJI Y HAC OYAYT METEO30H/IbI.

9) Ecnu mMeTeo30H1 OyJIeT HaJ MOpEM, OH CMOJXKET TepeliaTh HAIlPaBlICHUE BETPA.

14.Complete the sentences.
1) If I were you, | would
2) If I had a lot of money, | would
3) If I had a chance to travel, | would
4) If you gave me a day off, | would
5) If I lived abroad, | would
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Unit 4. Environment protection

Climate change is not just a problem for the future. It is impacting us every day.

Starting up

1. Discuss these questions.

1) What is more important: ecology or economic growth?

2) Is big business interested in the environment protection? Does it depend on the
country and mentality?

3) What measures should big business take to minimize its negative influence on
the environment?

4) Can ordinary people influence the ecological policy of their government? How?

5) What can an ordinary person do to protect the environment?

2. Divide into two groups. Give your arguments for and against building a new
factory in your city.

3. Answer the questions:

1) Which industries pollute the most and why?

2) What sources of pollution can you name?

3) What alternative sources of energy can we use?

4) What things can we refuse from if we want to reduce the pollution?

Vocabulary
4. Remember the following words.

to take advantage of BOCIIOJIE30BAThCSI MPEHMYIIIECTBOM
fossil fuel HCKOIAaeMOe TOILIMBO

to run out Hcue3aTh, UCTOIIATHCS

to supply smb. with smth. cHa0XaTh K-JI. Y-J1.

efficient 3¢ HeKTUBHBIT

to fulfil commitments BBIIIOJIHATH O0€EIaHus

emissions BBIOPOCHI

capacity MOIIHOCTh

put together 3]I. BMECTE B3SIThIC
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to promise o0enaTh

renewable BO300HOBJISICMBIT

to issue BBIINYCKAaTh, N3aBaTh
support MOJIIEPKUBATH

to pay premiums

BBIIINIAYUBATH IIPCMUU, HaI[6aBKI/I

to maintain a competitive edge

TMOJJIEP’KUBATh KOHKYPEHIIUIO

to foster

YCKOPSITh

tax incentives

HaJIOT'OBBIC JIbI'OThI

to provide smb. with smth.

obOecrieunBaTh K-JI. 4-JI.

coastline

npuOpeKHas JUHUS

elevated spot

BO3BBLIIICHHOC MCCTO

to obstruct

MCIIATh, ITPCILATCTBOBATDH

to erect BO3BOJUTH
conventional OOBIYHBII
offshore HE Ha CyIIe

to create pollutants

CO3J1aBaThb 3arpsA3HCHUC

to meet manufacturing costs

OKYIIAaTh ITPOU3BOACTBCHHBIC PACXOAbI

to be regarded as

PACOCHUBATHCA KaK

inescapable HEN30eKHBIN
noticeable 3aMETHBIN
controversial IPOTHBOPEUYMBBIN

5. Fillin the gaps using the words from the box.

take advantage of / run out / supply / emissions / promise/ issue / support / a
competitive edge / foster / tax incentives/ obstruct / erect/ offshore / regard /
inescapable / controversial

1) Drilling

2) Electrical power is

3) It took a couple of years to the wind farm.

4) It'san truth that these problems have no easy solution.

5) Reducing the consumption of energy and increasing its efficient use would help
control

6) The business needs to

oil is still profitable.
ed by wind turbines.

innovate in order to maintain

ed with a licence.
ed that they'll reduce taxes.
an interest in renewable

7) The company has not been

8) The government has

9) The government is trying to
sources of energy.

10) The government offers special
farms.

11) The information is

for wind

ed as strictly confidential.
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12) The question was very as it caused a lot
of discussion.

13) These wind turbines the view of the mountains.

14) They ed the ecological monitoring report with
facts.

15) We are little by little ing of fossil fuels.

16) When installing wind turbines, builders

elevated spots.

6. Read the text and fill in the gaps using the missing sentences from the list
below.

1) For example, last year Germany increased capacity by 44%.

2) Itis clean, efficient and comparatively inexpensive and it creates no pollutants
or emissions during operations.

3) It is here, particularly in elevated spots clear of trees or buildings which
obstruct the current of air, that wind farms have mostly been erected.

4) Tax incentives have also been offered.

Wind Energy
People have taken advantage of the wind energy for years. Images of milling corn
and transporting water present a familiar picture of English countryside and in the past
innumerable wooden mills could be located around Europe. Now countries are
planning for the fossil fuels run out and they are considering wind again to supply us
with a future energy source. Using energy from the wind is also an easy and efficient
method for countries to fulfill their commitments concerning emissions of
greenhouse gases. Many European states, with their long winters and little sunshine,
now favour wind power over solar-based methods of producing power. a)

__ . Denmark, the Netherlands, Spain, Sweden and the United Kingdom are examples
of other countries with large wind power capacity.

As the windiest country in Europe, the UK’ s wind power potential is larger than
the rest of Europe put together. Half of this resource is in Scotland. The UK’s
government has promised to generate 10 % of their electricity using renewable
resources. Wind power is seen to be the answer to doing this. The UK has issued wind
farm licences to produce as much electricity as about six nuclear power stations. This
policy has found favour with the public who support the search for cleaner energy
sources.

Until 1989, Denmark was the only European state that had installed wind
turbines for generating electricity. After 1989, other European countries followed suit
developing support mechanisms for developing renewable energy and particularly
wind power. Since 1994 the remaining European countries have also really started to
support wind power station installation. Countries offer different levels of support.
Some governments have paid companies premiums to maintain their competitive
edge while others have given investment subsidies to foster the development of
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technology. b)

Nature provides us with indications for the best sites for wind turbine
installation. Wind force and direction can be observed by leaning trees. This can most
frequently be seen in open countryside and areas near coastlines. c)

Massive
wind turbines, twice the size of conventional turbines, are also been developed for use
offshore, as it is there that the strongest and most constant winds are found.

Believing that wind energy has no disadvantages is easy. d)

. The electricity
generated in the first 6 to 9 months of operation by a typical wind turbine will usually
meet its manufacturing costs. However, wind farms are frequently regarded as a
type of visual pollution because of their common locations on hilltops. It is inescapable
that sites with the most winds are usually the most beautiful, and because they are built
in wild, remote and untouched settings their impact is all the more noticeable. This is
one of the most controversial questions when deciding on wind farm locations. Thus,
the siting of wind farms should be done with the greatest sensitivity. When turbines are
due for decommission, the entire structure can be wholly recycled or removed and the
cost of total site restoration can usually be completely met by the scrap value.

7. Answer the questions to the text.

1) What future energy source do countries consider as an alternative of the fossil
fuel? Why?

2) Why do many European countries favour wind power over solar one?

3) What European country has the largest wind power potential?

4) What measures did the UK take to foster the use of renewable sources?

5) What kinds of support did European countries began to offer?

6) What are the best sites to install wind turbines?

7) Are wind turbines used offshore?

8) What are the advantages and disadvantages of wind energy?

9) How long does it take to meet the manufacturing costs of a typical wind turbine?

10) What is one of the most controversial questions when deciding on wind
farm locations?

Grammar

The Participle

[Mpuyactne - HenwuHas QopMa Tjarojia, coyerawmom@as B cebe NPU3HAKU
NpWIATaTeIbHOrO WM Hapeuuss W riarona. CyliecTByeT JBa BHa NPHYACTHI
(mpryacTHe COBEPIICHHOIO M HECOBEPIICHHOro BHa). [IpuyacTe HeCOBEPIICHHOTO
Buaa HaspiBator Participle | wim Present Participle. OHo mMoXer uMeTh U HPOCTYIO
dopmy (rmarom + ing, Hampumep, playing, watching, smiling), u cmoxHy0
aHanutrdeckyro ¢opmy (having + rmaron + ed wiu riaron B 3 dopme, Hanpumep
having played, having watched, having smiled).
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Participle | BeImonmHseTr B NOpeIOKCHUU (YHKIMH  ONPEICIICHUS U
OOCTOSITENbCTBRA!
1) onpenenenus a smiling teacher — yawibarowutics yuumens, a flying plane — zemswuii
camonem, a factory polluting air — 3aso0, 3aepsaszusowuii 6030yx
2) 00CTOSTEILCTBA
OOcTosTeNbCTBEHHBIH 000POT YacTo BBOAUTCS corozamu When winu while, kotopsie
1100 HE MEePEBOIATCS, JINOO TIEPEBOISATCS CIIOBOM MPH.
When considering different levels of support, the government put forward an initiative
to reduce taxes.
While fulfilling the commitments concerning emissions of greenhouse gases, the
government offered to develop alternative energy sources.

8. Find and translate the participial constructions in the text below.
People living in Japan have some customs different from ours. For example, having
washed our face we wipe it with a dry towel, they do it with a wet one. Entering a house
our men take off their hats, the Japanese take off their shoes. We give presents when
arriving, they leave them when departing. When in mourning (tpayp) we wear black,
they wear white. We frown (xmyputbcs), when being scolded, they smile.

a. Translate from English into Russian.
a) a plant polluting the atmosphere, the running out fossil fuels, the existing level of
production, the growing consumption of energy, scientists carrying out a new research,
supporting measures, operating costs;
b) using new methods, constructing wind turbines, achieving good results, considering
new possibilities, refusing to issue unpopular laws, receiving important data, observing
the manufacturing process.

9. Change the following sentences using Participle I.

1) Wind turbine blade which has a diameter of 30 to 60 meters are made of glass
fibre.

2) If we take into account the speed of the wind and its availability, we can calculate
the energy to be produced.

3) The major factors which influence the overall cost of wind power are the cost of
the turbine and its supporting systems, which include land, and operating and
maintenance costs.

4) If we use basic physical laws, we can predict how much a known volume of
water would expand for a given increase in temperature.

5) Industrial pollution has become a type of environmental pollution that is
continuously increasing after the industrial revolution.

6) Water pollution harms the aquatic life and affects the entire food chain.

10.Translate from Russian into English.

1) Vmes camblii OONBINIONW BETPSAHOW MOTEHIMAN, BeaukoOpuTaHuUs UCIOIB3YyeT
SHEPTUI0 BETPa KaK UICTOUHHUK BO3OOHOBIISIEMOM YHEPTUH.
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2) IomnmepkuBasi pa3BUTHE AIbTEPHATUBHBIX MCTOYHUKOB SHEPTHH, IPABUTEIHCTBO
TepMaHUH MPEJIaraeT HAJIOTOBBIE JIBIOTHI.

3) Ilpm onpeneneHun wmecta s BETPSAHOH (epMbI, CTPOHWTENTH BBHIOMPAIOT
BO3BBIIIICHHOCTH.

4) HWcnonp3ys DSHEpPrui0 BETPa, MBI COXPAHSEM TMOJE3HbIE HCKOMAeMble U HE
3arpszHsaeM armocdepy.
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Unit 5. Modern Materials

A modern material is a material that has been engineered to have improved
properties.

Starting up

6. Discuss these questions.

1) Read the saying above. Give your comments on it.
2) Can you think of the names of materials in English? What are they?

3) Can you name any modern and smart materials? What is the difference?
4) What are modern materials in chemistry?
5) Why are modern materials better?

Vocabulary
2. Remember the words given below.

ferrous metal

YEPHBIA METAJLI

non-ferrous metal

[IBETHOU MeETall

carbon yIJIePOT

relatively OTHOCHUTEJIHHO, CPABHUTEIHHO
lightweight JICTKAN

concrete LIEMEHT, OETOH

reinforce YKPEIUISTh

construction materials

CTPOUTCIIbHBIC MATCPHAJIbI

take for granted

IMPUHUMATL KaK JOJIDKHOC

feasible BO3MOJKHBIM, 11€JIECO00Pa3HBIH
expansion JIOTIOJTHCHUE, PACIITUPCHHEC
coincidence COBIIaJICHHUE, CTEUEHHNE 0OCTOSATEILCTB

disintegrate

pa3pymarbcs

precious metal

JIPArolE€HHbI METaJI

resist corrosion

MIPOTUBOCTOSITH KOPPO3UU

duralumin

JFOPATTFOMUHUAMN
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titanium THUTaH

alloy CIuIaB

oxidize OKHUCJISATh

expose TO/IBEPraTh

surface IIOBEPXHOCTh
reduce COKpAIlaTh
application IPUMECHECHHE
chemical composition XUMHYECKHUI COCTaB
constituent COCTaBJISIFOIIIAsT
compound COCIMHECHUE
chemically bound XUMHYCCKU CBS3aHHBIN
hydrogen BOJIOPOJT

oxygen KHCIIOPOJ

mixture CMECh, COUETAHUE
reinforcement YKPETUICHHE

composite materials

KOMIIO3UTHBIC MAaTCPpHUAJIbI

grade KJ1acC, KaTeropusi, COPT

stainless steel HEPIKaBEIOIIasl CTallb

tool steels WHCTPYMEHTaIbHAs CTaJb

cutting tools PEXYIIME HHCTPYMEHTHI

galvanizing raJibBaHU3AINS, OITMHKOBAHKE

molten pacIuIaBICHHBIH

anodizing aHOJUPOBAHUE

electroplating raJlbBAHUIECKOE MTOKPHITHE

negative (positive) terminals MOJIO’KUTEITHHBIE, OTpUIIATEIbHBIC

KJIEMMBbI  (BBIBOJIBI)

3. Complete the sentences using the words in the box.

metal / non-metal / metallic / non-metallic / ferrous / non-
ferrous / stainless steel / reinforcement / chemically bound / mixture

1) Carbon (C) is a

2) Copper (Cu) is a metal.

3) Aluminium (Al) is a common :

4) Steel (Fe + C) is a widely used metal.

5) Although it is used in steel, carbon is :

6) Aluminium is relatively lightweight for a material.

7) Over 80% of the world's ferrochrome is utilised in the production of

8) At the next session we hope to have more from the region.
9) The mean Kinetic energy is always the same, whether its atoms are
or not.

10) The resultant Is used for preparing injection solutions.
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4. Complete the extract about concrete and steel, using suitable forms of the
word reinforce. Sometimes there is more than one possible answer.

(1) concrete is one of the most widely used construction
materials, and one we take for granted. However, using steel bars to (2)
concrete structures located outdoors is only possible thanks to a
fortunate coincidence: concrete and steel have practically the same coefficient of
thermal expansion — in other words, as atmospheric temperature varies, the concrete
and the steel (3) expand and contract at the same rate, allowing
uniform movement. Using a (4) material with a different coefficient of
expansion would not be feasible. For example, (5) aluminium-
concrete would quickly disintegrate.

5. Complete the table with words related to corrode, oxide and rust. Then use the
words to complete the sentences below. There is more than one possible answer.
Verb Noun Adjective

corroded

oxidized

/ go rusty
1. When steel is exposed to air and water, it
2. A brown/red material on the surface of steel is called
3. The strength of steel is reduced if it is

6. Make correct sentences using one part from each column. Use the information
in the text to help you.

1. Duralumin | can be mixed with copper to make silver.
2. Titanium | resists corrosion better than the other precious | brass.
metal
3. Zinc has a high strength-to-weight ratio and is often | aluminium
alloyed with.
4. Copper is an aluminium alloy that also contains copper and bronze.
5. Gold can be mixed with tin and lead to produce magnesium.

7. Complete the word groups below using the names of the metals from the box.
You will need to write some names more than once. Look at the text to help you.

Metal elements
Alloys

Precious metals
Reading
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8. Read the text and answer the questions:

1) What types of materials are widely used to make products or structures?
2) Say what materials can be used a) as the matrix, and b) as reinforcement?
3) What metals are called non-ferrous metals?

4) What are engineering applications of some non-ferrous metals?

Engineering Materials

Engineering materials can be divided into: metals —examples of metallic
materials are iron and copper; non-metals - examples of non-metallic materials are
carbon and silicon. As iron is such a widely
used material, metals can be divided into:
ferrous metals — those that contain iron;
non- ferrous metals — those that do not
contain iron. With regard to the chemical
composition of materials — the chemicals
they contain, and how those chemicals are §
combined — three main categories can be ¥
used:

1. Elements are pure materials in their
most basic form. They cannot be broken down into different constituents.
Examples of elements widely used in engineering materials are iron, carbon and
aluminium.

2. Compounds consist of two or more elements that are chemically bound - that is,
combined by a chemical reaction. An everyday example is water, which is a
compound of hydrogen and oxygen.

3. Mixtures consist of two or more elements of compounds which are mixed together,
but which are not chemically bound. In engineering, common examples are alloys
— that is, metals which have other metals and/or non-metals mixed with them. A
common example is steel, which is an iron-carbon alloy, and can include other
alloying metals — metals which are added to alloys, in small quantities relative to
the main metal. Examples of widely used alloying metals are chromium, manganese
and tungsten.

When you think of examples of hi-tech materials, composite materials come to
mind — such as carbon-fibre, used in aerospace and Formulal cars. But although we
think of composites as hi-tech and highly expensive, that’s not always true. The earliest
examples of composite materials were bricks made from mud and straw. Or, to use the
correct composite terms, from straw reinforcement — the structural network that
reinforces the material inside, and a mud matrix — the material surrounding the
reinforcement. These terms explain what a composite material is: a matrix with a
reinforcing material inside it. A modern, everyday example is fibreglass — correctly
called glass-reinforced plastic (GRP) — which has a plastic matrix reinforced with
glass fibres.

Steel is the most widely used engineering material. Technically, though, this well-
known alloy of iron and carbon is not as simple as one might think. Steel comes in a
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huge range of different grades, each with different characteristics. For the
inexperienced, it can be difficult to know where to begin. A good place to start is with
the two main types of steel. The first, carbon steels, consist of iron and carbon, and
contain no significant quantities of other metals. Carbon steels can be divided into three
main grades: Mild steel - the most widely used grade — is a low carbon steel which
contains up to approximately 0.3% carbon. Medium carbon steel contains between
approximately 0.3% and 0.6% carbon. High carbon steel contains between
approximately 0.6% and 1.4% carbon. The second main category of steel is alloy steels,
which consist of iron, carbon and one or more alloying metals. Specific grades of alloy
steel include: low alloy steels, which contain 90% or more iron, and up to
approximately 10% of alloying metals such as chromium, nickel, manganese,
molybdenum and vanadium; high strength low alloy steels (HSLA), which contain
smaller quantities of the above metals (typically less than 2%); stainless steels, which
contain chromium as well as other metals — such as nickel and which do not rust; tool
steels, which are extremely hard, and are used in cutting tools. They contain tungsten
and/or cobalt. A widely used grade of tool steel is high-speed steel, which is used in
cutting tools that operate at high temperatures, such as drill bits.

One weakness of mild steel is that it corrodes — its surface progressively
deteriorates due to a chemical reaction. This reaction takes place between the iron in
the steel and the oxygen (02) in the air, to form iron oxide. When iron corrodes, we
say that it rusts. In some metals, such as aluminium (Al), the presence of corrosion is
not a problem, as the layer of oxide around the
metal remains hard, which prevents it from
oxidizing any further. However, when mild
steel goes rusty, the rust on the surface comes
off continuously, and a new rusty layer forms,
progressively ‘eating into’ the metal.

Aluminium is widely used, often in alloy N
forms. - L el

An example is duralumin, an alloy used in aircraft manufacturing, which also
contains copper (4.4%) and magnesium (1.5%). Aluminium can also be alloyed with
titanium to produce very strong, lightweight metals. Good ductility also makes it
suitable for pipes. Copper is widely used in alloys, notably brass (copper and zinc) and
bronze (copper and tin, and sometimes lead). Copper is an excellent electrical
conductor, which makes it ideal for use in electric wires.

Silver is a precious metal - a reference to its high cost. It is a better electrical

conductor than any other material, so it is
='” often used for electronic connections.
- >1 Another precious metal — gold - is also an

excellent conductor, and is highly corrosion-
resistant. Non-ferrous metals can be used to
protect steel from corrosion by plating it —
that is, covering it with a thin layer of metal.
An example is galvanizing (zinc plating).
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Steel can be hot-dip galvanized, by placing it in molten (liquid) zinc. It can also be
electro-galvanized, which is a type of electroplating. With this technique, the steel
component is placed in a liquid (often an acid) — called the electrolyte — and
connected to the negative terminal (-) of an electrical supply, to become the cathode
(the negative side). A piece of zinc is also placed in the electrolyte, and is connected to
the positive terminal (+) of the supply. This then becomes the anode (the positive
side), An electric current then flows between the pieces of metal, through the
electrolyte. This causes a chemical reaction, which deposits zinc on the cathode, plating
the component. A related process, called anodizing, is used to protect aluminium. The
component to be anodized is connected to the positive terminal (to become the anode)
and placed in an electrolyte, with a cathode. As electricity flows, aluminium oxide is
deposited on the anode. As this is harder than aluminium metal, it provides protection.

9. Decide whether the sentences below are true or false, and correct the false
sentences.

1) The elements that make up a compound are chemically bound.

2) Alloys are chemical compounds that are frequently used in engineering.
3) Alloys can contain both metallic and non-metallic constituents.

4) In an alloy, an alloying metal is the biggest constituent, by percentage.
5) Steel is a metallic element.

6) Steel is an alloy of iron and carbon.

7) Mild steel is a high carbon steel.

8) Alloy steels contain carbon.

9) Chromium and nickel are used as alloying metals in steel.

10) Low alloy steels contain more chromium than iron.
11) Stainless steel is an alloy steel.
12) Tungsten is added to steel to make it softer.

13) High-speed steel is suitable for making cutting tools that get very hot.

10. Read the text below and find two elements, two compounds, an alloy and a
composite.

Element Compound Alloy Composite

Generally, the steel used in reinforced concrete will have previously been
exposed to water and to the oxygen in the air. As a result, it will usually be partly
corroded, being covered with a layer of iron oxide (rust). However, once the steel
Is inside the hardened concrete, it will be protected from air and water, which
prevents further rusting. Additionally, the cement in concrete does not react
aggressively with the iron in steel.

11. Summarize the text and speak about engineering materials.
12. Discuss with your partner. Think of some items you are familiar with that are

made of steel, but which are not protected (for example by paint). How serious is
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the potential problem of corrosion? How is it prevented or limited — for example,
by using a specific grade of steel?

Grammar
Participle Il
[TpuvacTrie OTHOCUTCS K HETUYHBIM (popMaM TIiarosia U 00JagaeT npu3HAKaMH

KaK MpUjIarateabHoro (MHOTIa Hapeuws), TaK U Tiaroja. [ maronbHpIMUA TIpU3HAKAMHU
MIPUYACTUS SIBJISFOTCS €T0 CIIOCOOHOCTH MMETh MPSIMOE JOMOIHEHUE, ONMPEACIAThCs
HapedneM U UMeTh (GOpPMbI BpeMeHH U 3ajora. Ho Bpems, BeIpakKeHHOE TPUIACTHEM
HOCHUT OTHOCUTEIBHBIN XapaKTep, T. €. COOTHOCUTCS C IEUCTBUEM TJIarojia-Cka3yemoro
NPEJIOKEHHS] U BBIpaXKaeT MO0 OJTHOBPEMEHHOCTH, TUOO MPEANIECTBOBAHUE ITOMY
neiictButo. Participle 2 mmeer cBoiicTBa Tiarosa, mpujiaraTelIbHOro (ONpeaesieHns) u
00CTOSITENbCTBA.

®opma mnpuuactuss Il (mpuuactus TpolIeNIIero BPEMEHH) CTaHAapPTHBIX
(MpaBUJILHBIX ) TJIAr0JIOB COBMAIAET ¢ (hOPMOM MPOIIEIIIET0 BPEMEHHU ITUX IJ1aroyios,
T.e. oOpasyercs nmpubaBlieHHEeM K OCHOBe rjarona cypdukca -ed c
COOTBETCTBYIOLUMH opdorpadudecKUMU U3MEHEHUAMU: to solve pewams - Solved
pewun - solved pewennwiii (-as, -oe).

®opma mpuvactus Il HecTaHmapTHBIX (HEMPABUIIBHBIX) TJIATOJIOB OOpa3yeTcs
pasHbIMH CIIOCOOAMHU M COOTBETCTBYET 3-i (popme 3Tux riarosion: t0 speak - spoke -
spoken, to make - made - made, to go - went - gone.

@yukunu npuyactui || B npeanoxennu

1. Onpenenenne
B oroit  ¢yukumm npuuactue I | the solved problem, the problem solved -
ynoTpeoasieTcs 17 (e0) nepen | pewiennas 3adava

OIPEJIENIEMBIM CIIOBOM (CJIEBA OT HETO),
nubo mocine (cmpasa). B mocnennem
Clly4yae, €Clii HET OTHOCSIIUXCS K HEMY
CIOB, TpH  TEpeBOAE  MNpUYACTHE
IIEpEHOCUTCs BJIeBO. Ha pycckuil s3bIK
npudyactue Il  oOblyHO TIEpeBOAUTCS
MpUYaCTUEM CTPaJaTEIBLHOTO 3aJi0ra Ha -
MblU, ~WULCS, -HHbIL, -Mbll, -BUIULICS

the houses built - nocmpoennvie ooma
the opened book - omxkpeimas knuea
the method used - ucnonvzyemoiii memoo

2. O0CTOATENHCTBO MPUYUHBI
CoOTBETCTBYeT B  PYCCKOM  SI3bIKE
IIPUYACTUSAM HA -Mbll, -WUUCA, -HHbIU, -
moll, -GUWUUCA WIA TPUIATOUYHBIM
MPEIJIOKEHUSIM TPUUUHBI

Well-known all over the world the
Russian book on electronics was also
translated into English.

Tax xax PYCCKasA KHUza no 2J1€KmpOoHUKe
uszeecnmiHa 60 e6cem mupe, OHA ovla
nepegeoena u Ha AHATUUCKULL 3bIK.

3. O0cTOATENBCTBO BPEMEHU
COOTBETCTBYeT B  PYCCKOM  SI3bIKE
MPUIATOYHBIM MPEIOKEHUSIM BPEMCHH.
Takue 00CTOSITEIILCTBEHHBIE

When given the book read the article
about environment protection.

Kozcoa eam oaoym «nuey, npoumume
cmamuio 06 0xXpare oKpydcaroujeli cpeobi.
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MIpUYacCTHbIE OOOPOTHI MOTYT HHOTIA
BBOJIUTHCA cOoro3aMu When kozoa, while 6
Mo 8pemsi KaK, 80 8DeMs

4. YacTh cKa3yemMoro He had translated the text before | came.
B stom cnywyae npuuactue Il BMecte ¢ | On nepegen mexkcm, npedxcoe uem sl
riarojiioM to have siBisieTcst ckazyeMbIM | npuie.
MNpCUIOKCHUA B OJHOM U3 BpPCEMCH
rpymibl Perfect

13. Choose the right form of the verb.

1) We listened to the girls (singing, sung) Russian folk songs.

2) We listened to the Russian folk songs (singing, sung) by the girls.
3) The girl (washing, washed) the floor is my sister.

4) The floor (washing washed) by Helen looked very clean.

5) Who is that boy (doing, done) his homework?

6) The exercise (doing, done) by the pupils were easy.

7) The house (surrounding, surrounded) by tall trees is very beautiful.
8) The wall (surrounding, surrounded) the house was very high.

9) The girl (writing, written) is our best pupil.

10)  Everything (writing, written) here is quite right.

11) Read the (translating, translated) sentences one more.

12) The pupils (translating, translated) a very difficult text are tired.

14. Use the verbs in Present Participle / Perfect Participle.

(to live) in the south of our country, he can not enjoy the beauty of Moscow.

(to read) the story, she closed the book and put it on the shelf.

(to buy) some fruit and cakes, we went home.

(to sit) near the fire, he felt very warm.

(to sell) fruit, he looked back from time to time, hoping to see his friends.

(to sell) his fruit, he went to see his friends.

(to write) out and (to learn) all the new words, he was able to translate the text

easily.

8. (to look) through some magazines, | came across an interesting article about
UFOs.

9. (to do) homework he was thinking hard.

10.(to do) homework he went for a work.

NogabkowbdE

15. Translate from Russian into English.
1) Buaenu, kak OH YIIOPHO TPEHUPOBAJICS B BOJHBIX BUAaX cropTa. HaBepHoe, oH
coOupaJicsi MPUHATH Y4acTHE B COPSBHOBAHMSIX.
2) BuaHo ObIIO, KaK CIIOPTCMEHBI IOCTHIIIH (PHHUIIIA.
3) Yacto BuIenu, Kak OHAa 3aHUMalaCh XYJOXECTBEHHOW TMMHACTHKON B
CIIOPTHBHOM 3aJI€.
4) BuaHo ObLIO, KaK CIIOPTCMEH NPBITHYJI M COMI TUIAHKY.
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5) 3ameTnin, 4TO OH HaYaJl 3AaHUMATHCS aJTbITHHU3MOM.

6) Ee manum HaOMrofaromel 3a X010M TPECHHPOBKH.

7) OH ocTaBMJI paKeTKy JIeKallleld Ha KopTe.

8) BbuI0 CIIBIIIHO, KaK (UTYPHCTKA CKOJB3UT IO KaTKYy.

9) Cynps! S Bunen, kak o 320w rosi!

10) Bb1110 CHIBIIIHO, KaK TPEHEP TOBOPHIT YTO-TO CIIOPTCMEHAM Tepe] HauyaaioM
MaTya.

11) Bunenu, kak oH mepecek mojie U «0TOWI» Msid Y TPOTUBHUKA.
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Unit 6. Nanotechnology and Nanomaterials

“Nanotechnology is an idea that most people simply didn't believe. Ralph Merkle

Starting up.
1. Answer the following questions.
1) Read the quote above and give your comments.
2) What do you know about nanotechnologies and nanomaterials? How do you
think it works?
3) What does the prefix “nano” mean?
4) Where do you think we can use Nanotechnology and nanomaterials?
5) What is nanotechnology and why is it important?

Vocabulary
2. Match the following words to their meanings. Use a dictionary to help you.
1. dimension a) to use fuel, energy, or time, especially in large amounts
2. scale b) an object or objects that belong to someone
3. raw materials c) the way that someone behaves
4. consume d) to contain something as a part of something else, or to
make something part of something else
5. confinement e) to make something or bring something into existence
6. continuum f) a measurement of something in a particular direction,
especially its height, length, or width
7. unique g) to include someone in something, or to make them take
part in or feel part of it
8. manage h) in fact or really
9. interface 1) a condition giving a greater chance of success
10.property J) something that changes in character gradually or in very
slight stages without any clear dividing points
11.preponderance K) to succeed in doing or dealing with something, especially
something difficult
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12.behavior I) any material, such as oil, cotton, or sugar in its natural
condition, before it has been processed for use
13.include m) not long ago, or at a time that started not long ago
14.produce n) the situation in which a person or animal is kept
somewhere, usually by force
15.involve 0) the relation between the real size of something and its size
on a map, model, or diagram
16.actually p) the set of colours into which a beam of light can be
separated, or a range of waves, such as light waves or
radio waves
17.recently q) intentionally
18.advantage r) asituation, way, or place where two things come together
and affect each other
19.spectrum s) the largest part or greatest amount
20.deliberately t) being the only existing one of its type or, more generally,
unusual, or special in some way
3. Fill in the gaps, using the words from the box.
preponderance / confinement / recently / include / behavior / involve /
manage / interface / raw materials / dimensions / wunique / unique /
spectrum / actually / property / deliberately / scale / advantage /

1. Until very he worked as a teacher and he still shudders at the memories.

2. Children need to be taught to have respect for other people's

3. | was wondering whether | could a meal out of what's left in the
fridge.

4. I'm sure he says these things to annoy me.

5. I'd recognize your handwriting anywhere - it's

6. Please specify the (= the height, length and W|dth) of the room.

7. He was notorious for his violent and threatening

8. lcan't all this work on my own.

9. This map is large (= things are shown in detail).

10.1t's unclear what happened that night.

11.She spent most of those years under house arrest or close

12.We need a clearer between management and the Workforce

13.1t would be difficult not to the child's father in the arrangements.

14.The cost of was going up.

15.The of evidence suggests that he's guilty.

16.The colours of the - red, orange, yellow, green, blue, indigo, and
violet - can be seen in a rainbow.

17.The of booking tickets in advance is that you get better seats.

18.Sheila asked to be among the people going on the tour.
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4. Remember the words given below.

dimension U3MEpEHHE

interaction B3aMMOJIEICTBHE

catalyst KaTaanu3aTop

layer ) (V)7

solid TBEPJIOC TEJIO

scale YPOBCHB

to deal with AMETH JIEJIO C

diverse pa3HOO00pa3HBIN

extension pacIInpeHue

range CIIEKTp

speculation TPETOI0KCHUE

to warrant rapaHTUpOBaTh

continuum CIUIONTHAS Cpelia

ductile [IJJACTUYHBIHN, BI3KUN
subtle e/IBa pa3InIUMBbIN

refine yYCOBEPIICHCTBOBATh
confinement OrpaHUYCHHE

property CBOMCTBO

meaning 3HAYCHHE

allow TI03BOJISITh

regulation MIOJIOXKECHHE, PETyJIMPOBAHUE
equivalent to NPUPABHUBAEMBIN K 4eMy-1TH00
lead to NPHUBOUTH K YeMy-TH00
computational tools BBIYUCITUTEIILHBIC CPEJICTBA
originate IPOUCXOIHTh

impact BIIVSTHUC

composition COCTaB

implication IPUMEHEHUE

particle JacTHIa

involve BKJIFOYATh B CEOsI
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Reading
5. Read the text to find out more about nanotechnology and nanomaterials.

Nanotechnology and Nanomaterials

Nanotechnology, shortened to “nanotech”, is the study of the controlling of matter
on an atomic and molecular scale. Nanotechnology deals with structures of the size
100 nanometers or smaller in at least one
dimension, and involves developing
| materials or devices within that size.
| Nanostructures are assembled a single
- atom, molecule, or atomic layer at a time,
as part of a vast new field of research in
nanomaterials synthesis and assembly. In
other words it is the engineering of
functional systems at molecular scale. It
offers ways to create smaller, cheaper,
lighter and faster devices that can do
more and cleverer things, use less raw materials and consume less energy.

Nanotechnology originates from the Greek word meaning “dwarf”. “Nano” is a
prefix meaning one-billionth. A nanometer is one-billionth of a meter or it is about one
hundred thousandth of the width of a hair! The world of atoms and molecules could
not be visualized and managed until a new generation of microscopes were invented in
1980s in IBM in Switzerland. Generally, structures smaller than a nanometer tend to
behave much like individual atoms, while materials that are hundreds of nanometers or
greater in size exhibit properties of the continuum. Nanoscale properties and behaviors
can be quite different as the result of unique physical and chemical interactions. The
preponderance of surfaces and interfaces, and the physical confinement of matter and
energy, can alter nearly all properties of materials (physical, chemical, optical, etc.),
and thus produce extraordinary new behaviors. Examples include generating light from
dark materials, improving efficiencies of catalysts by orders of magnitude, and turning
soft and ductile materials like gold into solids with hardness equivalent to bearing steel.

The final ingredient to nanotechnology is the ability to characterize and predict
nanoscale properties and behavior. New experimental tools that are able to “see”,
“touch”, and measure the behavior of
individual nanostructures allow scientists
and engineers to identify subtle
differences in structure and properties
that control nanoscale properties. By
coupling new experimental techniques
with advanced computational tools,
researchers can develop, verify, and
refine models and simulations that will
allow the  full  potential  for
nanotechnology to be explored. There has
been much debate on the future implications of nanotechnology. Nanotechnology has
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the potential to create many new materials and devices with a vast range of
applications, such as in medicine, electronics and energy production. On the other
hand, nanotechnology raises many of the same issues as with any introduction of new
technology, including concerns about the toxicity and environmental impact of
nanomaterials, and their potential effects on global economics, as well as speculation
about various doomsday scenarios. These concerns have led to a debate among
advocacy groups and governments on whether special regulation of nanotechnology is
warranted.

It’s hard to imagine just how small nanotechnology is. One nanometer is a
billionth of a meter. Here are a few illustrative examples: There are 25,400,000
nanometers in an inch. A sheet of newspaper is about 100,000 nanometers thick. On a
comparative scale, if a marble were a nanometer, then one meter would be the size of
the Earth. Nanotechnology involves the ability to see and to control individual atoms
and molecules. Everything on Earth is made up of atoms — the food we eat, the clothes
we wear, the buildings and houses we live in, and our own bodies. But something as
small as an atom is impossible to see with the naked eye. In fact, it’s impossible to see
with the microscopes typically used in a high school science classes. The microscopes
needed to see things at the nanoscale were invented relatively recently — about 30 years
ago. Once scientists had the right tools, such as the scanning tunneling microscope
(STM) and the atomic force microscope (AFM), the age of nanotechnology was born.
Although modern nanoscience and nanotechnology are quite new, nanoscale materials
were used for centuries. Alternate-sized gold and silver particles created colors in the
stained glass windows of medieval churches hundreds of years ago. The artists back
then just didn’t know that the process they used to create these beautiful works of art
actually led to changes in the composition of the materials they were working with.
Today's scientists and engineers are finding a wide variety of ways to deliberately make
materials at the nanoscale to take advantage of their enhanced properties such as higher
strength, lighter weight, increased control of light spectrum, and greater chemical
reactivity than their larger-scale counterparts.

6. Answer the questions to the text.

1) What structures are investigated by nanotechnology?

2) What advantages does nanotechnology offer in creating new products?

3) What is the origin of the word “nanotechnology”?

4) What basic inventions influenced the development of the new science?

5) Why do nanomaterials behave in other way than ordinary structures?

6) What is the extraordinary feature of nanotechnology?

7) What fields of science is nanotechnology applied in?

8) How big is a nano particle?

9) Give examples of products that contain nano particles.

10) How can particles at a nano scale be different from the same material at a
larger scale?

11) How may nanotechnology be used in the future?

12) What concerns do some people have about using nano particles in
products?
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7. Find English equivalents to the following word combinations in the text.
1) MOJIEKYTISAPHBIA YPOBEHD .. nnttteeeennteeeeenneeeeeaseeeeaainneeeeananaeeenns
P T 50011517 001 (0) / S
R ) I 70 NS Qe 070 o) - P
A) CBIPBE w ettt et et et et e e e e
5) TOTPEOIISITE THEPTHIED ... 'ueveeenereennneeennneeennneeenneeeanneeeanneeeanneeennneeannns
(O) 0N 011070 t: 10700 (o] K
DT 1101032 0:0: 3 03 101 7 (vt -
8) UBMECHSATDH CBOMCTBA MATCPHAIIOB .....vveneteenteenneenneeanneenneenneenneenneeenneenns
)BTl 1 (0]53: 010 70 : 10017 e 171 1 S
10) HECYIIAT CTATTD +. vttt enette ettt entte e entee e aeeeae e ete e atee e aeeennaeeenneeennes
11) TIPH COCTTIHEHME ...vuvvrsnsenseseaseneenseneeneaseesenseneeaeeaeaseseseneaneanensas
12) TOCAEACTBUS HAHOTCXHOMOTHH ....uuuusseeeenttseeeeannteeeeeaanaeeeaaanneeeeaanns
13) HOJHUMAIOT MHOTHE ITPOOIIEMBI ... ..vvveetteeenneeeeteeeaeeeeineeeaneeeanaeeannss
14) Bo3ielicTBHE HAHOMATEPHUATIOB HA OKPYKAIOLIYIO CPEIY -vvennveenneennneannennn
15) CHEHAPHM KOHITA CBETA .. .vvvneteeneteeenneeeenteeenteeennteeeneeeaaeeenneeannnas
16) MPONATAHAMCTCKHIE TPYIITIBI ... .vveenntteeneteeenteeeeteeeetteeaaeeeaneeeeaneeennes

8. Find the synonyms to the following words in the text.
1) Substance
2) level
3) huge
4) use
5) show
6) feature
7) limitation
8) flexible
9) connecting
10) improve
11) investigate
12) effects of smth
13) problems

14) discussion

9. Insert the necessary word in the gap.
1) Nanotechnology is the engineering of functional systems at the
scale.
a) nuclear/ b)electron/ c) particle / d) molecular
2) Due to nanotechnology we can create things less energy.
a) consuming / b) producing / c) converting / d) generating
3) Scientists could the world of atoms owing to the invention of new

microscopes.
a) verify / b) offer / c)visualize / d) penetrate
4) New of microscopes helped advance the science of
nanotechnology.
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a) gravitation / b) generation / c) production / d) contribution
5) The science of nanotechnology attracted attention of scientists all over the
world its limitless possibilities.

a) in spite of / b) because of / c)instead of / d)dueto

10. Discuss with your partner one of these ethical questions.

1) Should we build objects including life forms atom by atom for our purposes?

2) How would you feel about having mechanical parts in your body?

3) What would be the motivation to work if we could have machines produce
everything (Would we even want to work)?

11. Outline the main ideas in the text. Retell it.

Grammar.

Gerund

['epynanii — 370 Oe3nuuHas popma riiarosyia, KOTopas CO4eTaer B ce0e NpU3HaAKH
CYIIECTBUTEIBLHOIO U Tarona. OH HeceT B cebe 3Ha4YeHHE HEKoro mporecca. Yarie
BCEr'o TePYHIUI B PYCCKOM MEPEBOJIC BHICTYIACT CYINIECCTBUTEIILHBIM, TJIar0jIOM WIH
JICCTPUIACTHCM.

Swimming is really good for your back. — ITnasanue ouens nonesno 0 cnuHul.

| enjoy reading non-fiction books. — Mue ouenv mpasumcs umenue nayumno-
NONYTSPHBIX KHUL.

We ran 7 kilometers without stopping. — Mwi npobescanu T km b6e3 ocmanosox.

Jiist 06pazoBaHus TepyHAMS HEOOXOIUMO T100aBUTh OKOHYAHHE -INg K TJIaroiy B
HeomnpeaeIeHHOM dhopme.

to think (0ymamu) — thinking (pazmsiuinenue)

to sing (nems) — singing (nenue)

to find (naxooumy) — finding (naxooicoenue, Haxoo0Kka)

to marry (orcenumscs) — marrying (orcenumoba)

Oco0eHHOCTH MPABONMCAHNS TePYHIUSI:

1) Ecnu riarosi uMeeT OKOHYaHHE -€, TO IMepejl -ing OHO OITyCKaeTCsl.

to write (nucamu) — Writing (nucomo, Hanucauue)

to smile (yrvibamwcs) — smiling (yavioka)

2) Ecnu riaros okaHYMBAETCS HA OJHY COIVIACHYIO OYKBY, Mepel KOTOPOU eCTh

yIapHBIN TJIACHBINA 3BYK, TO COrjlacHas OyKBa Ha KOHIIC YBaUBaCTCS.

to sit (cuoems) — sitting (cuoenue)

to run (bexcams) — running (6ez)

regret (coowcanemun) — regretting (coorcanenue)

3) Ecinu riaroi uMeeT OKOHYaHHE -1€, OHO MCHSICTCS Ha -Y.

to lie (neamyw) — lying (n0d1cw)

to die (ymupamo) — dying (cmepms)

OTtpunarensHas ¢opma TepyHAUS 00pa3yercss MpH IMOMOIIMA YacTHilbl NOt.
CraBuM ee nepen repyHInueM.
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| love not having to get up early in the morning. — Mre ouens npasumcs, umo
MHe He NPUX0OUmcsi 6CMasams paLo no Ympam.
Not lying is the best thing to do. — He spambv — camoe nyuwee, umo moxcHo

coename.

DopMbI IrepyHIUs] B AHIVIMHCKOM SI3bIKE

B anrmmiickom s3pike ecth nBe (opmbl TepyHauss — mpoctas (Simple) u
nepdektHas (Perfect). Ilpoctass ¢dopma repyHaus UCHONb3yeTCs ISl JEHUCTBUS,
KOTOPOE€ MPOUCXOANUT OJTHOBPEMEHHO C JCHCTBHEM Tiaroia-ckazyemoro. [lepdexrnas
dbopMa TepyHIUS UCHONB3YETCS sl JCHCTBHS, KOTOPOE MPEAIIECTBYET IIaroiy-

CKa3yeMoMy.

Kpome TtOro, repyHauii MOXKHO MCIIOJIB30BaTh KaK B AaKTUBHOM, TaK U B
MMAaCCUBHOM 3ajiorax. AKTHBHBIMA 3aJI0OI — JIEMCTBHE MPOUCXOJIUT C MOJICKAIIUM.
[TaccuBHBIN 3JI0T — JAEUCTBUE MTPOUCXOAUT HAJI MOJICIKALINM.

DopmbI

AKTHBHBIHA 32J10T

IlaccuBHBINI 3aJ10T

Simple Gerund

doing

Excuse me for disturbing
you. [Ilpocmume, umo
becnokoro eac.

being done
| hate being disturbed.
Henasuorcy, Ko20a MEHA
becnokosm.

Perfect Gerund

having done

He apologized for having
disturbed them. Owu
U36UHUJICA 3a mo, uUmo
nobecnoKousl ux.

having been done

| regret having been disturbed
during the conference.

A cootcaiero, umo MEHA
nobecnokouiu 60 8pEMA
KOH@hepeHyuu

12. Open the brackets using the correct form of Gerund.
1) When will you finish (translate) the text?
2) He decided not (play) football last year and took up (swim).
3) Please, don’t pay attention to me and keep on (write).

4) | started (play) the piano when | was four.

5) When will you begin (think) about your studies?

6) She wants (take up) sports.
7) He should give up (smoke).
8) There is no sense in ... (earn) more money than you can spend.
9) Do you mind ... (work) overtime?
10) Normally I enjoy ... (go) out but today I’d prefer ... (stay) indoors.

11) The film was really worth ... (see).

12) Brent is looking forward to ... (take) a short break next month.
13) She is fond of ... (have) picnics.

14) | can’t remember ... (see) him before.
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15) Everybody enjoys ... (work) with him.
16) The boy hates ... (scold).

17) | am sorry for ... (disturb) you.
18) The windows need ... (clean).
19) It is no good ... (force) him to go with us.

20) | don’t like ... (cheat).

13. Change the sentences as in the example using the preposition of and after

with Gerund.

Example: She thought she would go to the country for the weekend. — She

thought of going to the country for the weekend.

When she bought everything she needed, she went home. — After buying

everything she needed, she went home.
1. I thought | would come and see you tomorrow.

. I thought I would go on an excursion but the weather was very bad.
. He is thinking he will learn two foreign languages in future.

. I am thinking | will buy some books on geography.

. My grandparents are thinking that they will grow roses this year.

. After she took her daughter to the kindergarten, she went to the library.

. When the children came home, they started playing computer games.
After | thought for a while, I finally decided to buy that hat.

0.When they got off the train, they went straight to the hotel.

2
3
4
5
6. My son got a job after he left school.
7
8
9.
1

14. Complete the sentences using Gerund.
1) He left the room without

2) At last we succeeded in

3) You should avoid

4) He has no intention of

5) I'am proud of

6) They are engaged in

7) 1 ought to apologize for

8) He began his working day by

9) There is no probability of

10) You can help me by

11) He has improved his

12) As the children were listening

13) He objects to

14) Last year he spent

15) He has begun

pronunciation by
attentively, | continued
much time in

16) He raised his hat on

17) He was accused of
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18) Thank you for
19) | can’t afford
20) They have no intention of

15. Translate into English.

ITepecranp miakars.

[IpomomxkaiTe nucars.

A nymaro, 4To Te0€ ciaeayeT HauaTh 3aHUMAThCSI CIOPTOM.

Thl y’e 3aKOHUYWIT YATATH 3TY KHUTY?

On O6pocwuit Urpath B KOMIBIOTEPHBIE UT'PHI.

Xopouias uaesi Ha4aTh UTPaTh HA My3bIKaJIbHOM UHCTPYMEHTE.
51 HU4Yero He UMEI0 MPOTUB TOTO, YTOOBI TOCETHUTD HLIO-IZOpK.
S nymaro, moay4dy yJ0BOJILCTBHE OT BUJIa HEOOCKPEOOB U IPYTHX COBPEMEHHBIX
3JTaHUH.

9. MHe HpaBUTCS CIyIIATh 3ByKH TOPOJa.

10.51 mro6r0 TYASATH IO TOPOSY.

11.51 He mr00II0 XOAUTH IO MY3E5IM.

12.51 TepnieTh HE MOTY OCMaTPUBAThH JTIOCTOIIPUMEUYATEIIBHOCTH.
13.51 HeHaBWKY KUTh B IIIyM€ U TOPOJICKOM cyeTe.

ONoGakrwdE
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Unit 7. Information Technologies

oyeee g e
B 42,8
e gy :.

As information technology restructures the work tuation, it abstracts thought
from action.

Starting up
1. Read the saying above and give your comments on it. Do you agree with it?
Why? Why not?

2. Discuss these questions.

1. How do you use computer in your free time?

2. Do you believe all the information you see on the Internet?
3. Are you interested in modern technology?

3. How do you think these professions might use computers? Compare answers
with others in your group.

architects

interior designers

farmers

landscape gardeners

musicians

rally drivers

sales people

4. Work in pairs. Describe how you use computers in your study and in your
free time.

Vocabulary
5. Match the following words to their meanings. Use a dictionary to help you.
14) determine n) the conditions that you live or work in and the way

that they influence how you feel or how effectively
you can work
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15) transform 0) connected with relationships between people

16) equipment p) the process of entertaining people at the same time as
you are teaching them something, and the products,
such as television programmes or software, that do
this

17) feature q) not able to exist or work with another person or thing
because of basic differences

18) previously r) enjoyable, attractive, friendly, or easy to like

19) environment S) in a way that is easy to see or by a large amount

20) edutainment t) to control or influence something directly, or to
decide what will happen

21) pleasant u) to make something certain to happen:

22) proliferating v) a typical quality or an important part of something

23) interpersonal w) a part of an organization that does a particular type of
work

24) incompatible X) the set of necessary tools, clothing, etc. for a
particular purpose

25) significantly y) to increase a lot and suddenly in number

26) ensure z) to change completely the appearance or character of
something or someone, especially so that that thing
or person is improved

6. Fill in the gaps, using the words from the box.

determined / transform / features / previously / environment /
edutainment / pleasant / proliferated / interpersonal / incompatible /
significantly / ensure

1. Itwas to sit down after standing for hours.

2. The successful applicant will have excellent skills.

3. The number of staff we can take on will be by how much money
we're allowed to spend.

4. When we started living together we realized how we were - our
Interests were so different.

5. She was employed as a tour guide.

6. The airline is taking steps to safety on its aircraft.

7. The office is quite bright and airy - it's a pleasant working

8. The market for software is growing at about 30% a year

9. Small businesses have in the last ten years.

10.My piano playing has improved since | started with a new
teacher.

11.The reorganization will the entertainment industry.

12.0ur latest model of phone has several new
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7. Remember the words given below.

available JTOCTYITHBIN

collect cobuparp

expert CIIEHUAJINCT

the disabled HEMOIIHBIN

remote location yJIQJICHHOE PACIIONIOKEHHE
sophisticated YMYIPEHHBIH, CII0XKHBIH
appliances pUOOpPHI

combine coYeTaThb, O0BEIUHATE
appropriate MIOAXOMSIIUN, HaIJIEKAIIIUN
entertainment pa3BiICUCHUE

effectively JCWCTBEHHO, PE3yJIbTATHBHO
responsible OTBETCTBEHHBIM
proliferate pacipoCTpaHATh

share pa3zeisaTh, ACIUThCS
enable ITO3BOJIATE, 00€CIICYNBATH
pinpoint OIIpENIETTUTh, YKa3aTh
enhance MOBBIIIATH, YKPEIUIATh
suggest [peanaraThb

integrate 00BEIUHSATH, BKIIOYATh
impact BJIVSTHHEC, BITUSITh
Reading

8. Read the text and answer these questions.
1. Name some types of devices that use ‘computers on a chip’.
2. What uses of handheld computers are mentioned in the text?
3. What are the benefits of using computers with the following items?
a Security systems
b Cars
c Phones
What smart devices are mentioned in the text?
What are smart cards used for?
What are the advantages of multimedia?
What can medical expert systems do?
How can computers help the disabled?
What types of computing systems are made available to people in remote
locations using electronic classrooms or boardrooms?
10.What aspects of computing can people power determine?

©ooNOh
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Computers Make the World Smaller and Smarter

The ability of tiny computing devices to control complex operations has
transformed the way many tasks are performed, ranging from scientific research to
producing consumer products. Tiny
"computers on a chip’ are used in
medical equipment, home appliances,
cars and toys. Workers use handheld
computing devices to collect data at a
customer site, to generate forms, to
control inventory, and to serve as
desktop organisers.

Not only is computing equipment
getting smaller, it is getting more sophisticated. Computers are part of many machines
and devices that once required continual human supervision and control. Today,
computers in security systems result in safer environments, computers in cars improve
energy efficiency, and computers in phones provide features such as call forwarding,
call monitoring, and call answering.

These smart machines are designed to take over some of the basic tasks previously
performed by people; by so doing, they make life a little easier and a little more
pleasant. Smart cards store vital information such as health records, drivers’ licenses,
bank balances, and so on. Smart phones, cars, and appliances with built in computers
can be programmed to better meet individual needs. A smart house has a built-in
monitoring system that can turn lights on and off, open and close windows, operate the
oven, and more. With small computing devices available for performing smart tasks
like cooking dinner, programming the DVD recorder, and controlling the flow of
information in an organization, people are able to spend more time doing what they
often do best — being creative. Computers can help people work more creatively.

Multimedia systems are known for their educational and entertainment value,
which we call “edutainment’. Multimedia combines text with sound, video, animation,
and graphics, which greatly enhances the interaction between user and machine and
can make information more interesting and appealing to people. Expert systems
software enables computers to ‘think’ like experts. Medical diagnosis expert systems,
for example, can help doctors pinpoint a patient's illness, suggest further tests, and
prescribe appropriate drugs.
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Connectivity enables computers and software that might otherwise be
incompatible to communicate and to share
resources. Now that computers are
proliferating in many areas and networks
are available for people to access data and
communicate  with  others, personal
computers are becoming interpersonal PCs.
They have the potential to significantly
improve the way we relate to each other.
Many people today telecommute — that is,
use their computers to stay in touch with the
office while they are working at home. With
the proper tools, hospital staff can get a
diagnosis from a medical expert hundreds or thousands of miles away. Similarly, the
disabled can communicate more effectively with others using computers.

Distance learning and videoconferencing are concepts made possible with the use
of an electronic classroom or boardroom accessible to people in remote locations. Vast
databases of information are currently available to users of the Internet, all of whom
can send mail messages to each other. The information superhighway is designed to
significantly expand this interactive connectivity so that people all over the world will
have free access to all these resources.

People power is critical to ensuring that hardware, software, and connectivity are
effectively integrated in a socially responsible way. People - computer users and
computer professionals —are the ones who will decide which hardware, software, and
networks endure and how great an impact they will have on our lives. Ultimately people
power must be exercised to ensure that computers are used not only efficiently but in
a socially responsible way.

9. Match the terms a-e from the text with the statements 1-5.
a Edutainment
b Multimedia
¢ Expert system
d Telecommute
e Information superhighway

1. Software that enables computers to ‘think’ like experts.

2. Use computers to stay in touch with the office while
working at home.

3. Internet system designed to provide free, interactive
access to vast resources for people all over the world.

4. Multimedia materials with a combination of educational
and entertainment content.

5. A combination of text with sound, video, animation, and
graphics.
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10. Mark the following statements as True or False.

a  Desktop  organisers are  programs  that require  desktop
COMPULEIS... e

b Computers are sometimes used to monitor systems that previously needed
human supervision. ...............ccoeeeveeenn ..

¢ Networking is a way of allowing otherwise incompatible systems to
communicate and share resources. .............cooevvvvvinen ..

d The wuse of computers prevents people from being creative.

e Computer users do not have much influence over the way that computing
develops. ....ccooviviiii

Grammar
The Infinitive
NuduauTrBOM Ha3bIBAIOT HeompeaeneHHyo ¢opMmy riaroia. Jta ¢dopma
BBIPAKAET JEHCTBUE, HO HE MOKA3BIBACT JIMIO WK Yncio. NHPUHUTUB OTBEYaeT HA
BOIPOCHI «UTO JIENaTh?», «4TO clIenaTh?»: to run — Oexars/mpubdexartb, to cook —
TOTOBUTH/TIPUTOTOBUTH. B mpeniokeHnn WHPUHUTHB MOXKET HCIOJB30BAThCS C
qacTULEel to u 0e3 Hee.
@Oynxkunu MTHGUHUTHBA. OOBIYHO OH BBITIOIHSIET POJIb:
1. ITomnexaniero
To walk alone late at night is very dangerous. — I yisme 6 00unouky no3oHo éeuepom
OUYEeHb ONACHO.
2.YacTtu ckazyeMoro
My decision is to stay here for a couple of days. — Moe pewenue — ocmamucst 30eco na
napy oHeil.
3. JlononHeHus
Many people hate to lose. — Mrozue 1100u nenasudsm npoucpwvieams.
4. OnpeneneHus
She was the best to solve this problem. — Ona ayuwe ecex pewuna smy 3aoauy.
5. ObcTosITENBCTBA
You can break this model. It was made to be tested. — Moorwcewv romame s5my mooens.
OHa 6vlna coenana 011 mecmupoB8aHusl.

@®opMbl HHPUHUTHBA B AHIJIHICKOM SI3bIKe

Infinitive | Simple Continuous | Perfect Perfect
Continuous
Active to ask to be asking | to have | to have been
asked asking
Passive to be asked |to be being | to have been | to have been
asked asked being asked

B pycckoMm s3bIK€ HET TakKoro pazHooOpa3uss MHOUHUTHBHBIX (OPM, KaK B
aHrMuckoM. Ilo 3TOM npuyMHE NpU MEPEBOAEC YaIIe HCIOIB3YETCS IMPOCTOU
WH(UHUTHUB WK TJIarojl B JUYHOU popme.
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Ynorpebienue hopm HHOUHUTHBA B aHTJIMHCKOM:

1. Simple Infinitive — npocroit napUHUTHB

Oto Ta (dopma, KOTOPYIO MbI HPHUBBIKIM BUAETH B ciioBape. OOBIYHO OHA
UCIIONb3YEeTCs 111 0003HAaYCHHUSI ICHCTBUSI B HACTOSIIEM WK OyAyIlleM BPEMEHHU.

| am really glad to see you again. — 4 ouens pao ysuoems mebs crosa.

This work should be done immediately. - Omy  pabomy
cnedyem coenamov HemeoleHHO.
2. Continuous Infinitive — JUTUTEHHBIN UHOUHUTHB

JUTiTeNnbHbI WMHQUHUTHB yKa3blBaeT HAa MPOJOJDKUTEIBHOE JACHCTBHE. OTOT
MHQUHUTUB TaK >k€, KaK M IPOCTOM, 0003HAYaeT JEHCTBUE B HACTOSILEM WU
OyaylieM BpEMEHH.

He  must bestill readinga  magazine. -  Haseproe, oH  6ce
ewe yumaem JS4CypHal.
3. Perfect Infinitive — niepeKTHBIN WH()pUHUTHB

[lepdexTHpii MHGUHUTHUB Ha3bIBA€T JCHCTBUE, KOTOPOE MPOU3OILIO paHbIle
YKA3aHHOT'O B MIPEJI0KEHUH MOMEHTA PEYU WU PAHBIIE APYTrOro ACUCTBUSL.

| am sorry to have told him this secret. — Mue owcans, umo s pacckazan emy
amom cexpem.

There is a drawing on the table. This sketch must have been made by George. —
Ha cmone nexcum  pucynok. Omom  HAOpPOcox, O00JNCHO  Oblmb, ObLI
coenan J{dcopodxcem.

4.  Perfect Continuous Infinitive — nepdexTHBII IIUTEIbHBIH HHOUHATHB

OTOT UHPUHUTUB MOKA3bIBAET JCHCTBUE, KOTOPOE JJIUTCS JO ONpPEAEICHHOTO
MOMEHTA WU JIPYroro JIEUCTBUS B HACTOSIIIEM.

He is dissatisfied to have been living here for five years. — On ouens nedosonen
mem, 4mo JHcueem 30ech Namb jiem.

11. Analyze the following examples and translate them into Russian.

The buyers want to know our terms of | This is for you to decide.
payment.
To walk in the garden was a pleasure. | The plan of our work will be discussed
at the meeting to be held on May 25.

| felt him put his hand on my shoulder. | Jane remembered to have been told a
lot about Mr. Smith.

She seems to be having a good time at | This writer is said to have written a

the seaside. new novel.

To advertise in magazines is very | They watched the boy cross the street.
expensive.

He knew himself to be strong enough | He proved to be one of the cleverest
to take part in the expedition. students at our Institute.

He is sure to enjoy himself at the | To see is to believe.

disco.
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To tell you the truth, this company has | | called every morning to see if there
a very stable position in the market. | was any news.

12. Put “to” before the infinitive where it is necessary.
1. My son asked me ... let him ... go to the club.
You must make him ... practice an hour a day.
She was made ... repeat the song.
He is not sure that it can ... be done, but he is willing ... try.
Let me ... help you with your work.
She asked me ... read the letter carefully and ... write an answer.
You ought ... take care of your health.
| looked for the book everywhere but could not ... find it.
He was seen ... leave the house.
10 We had . put on our overcoats because it was cold.
11.The man told me not ... walk on the grass.
12.Have you heard him ... play the piano?
13.You had better ... go there at once.
14.1 would rather not ... tell them about it.
15.We shall take a taxi so as not ... miss the train.

CoNaRWN

13. Use the appropriate form of the infinitive.

They want (to take) to the concert by their father.

| am glad (to do) all the homework yesterday.

This plant is known (to produce) tractors.

He wants his son (to become) a lawyer.

The enemy army was reported (to overthrow) the defense lines and (to

advance) towards the suburbs of the city.

He seems (to know) French very well: he is said (to spend) his youth in Paris.

You had better (to call) our distributors at once.

We are happy (to invite) to the party.

. That firm is reported (to conduct) negotiations for the purchase of sugar.

0 It seemed (to snow) heavily since early morning: the ground was covered
with a deep layer of snow.

11.He didn’t hear me (to knock) at the door.

12.1 want (to inform) of her arrival.

13.0ur sportsmen are proud (to win) the cup.

14.He is known (to work) on the problem for many years.

15.The representative of the firm asked for the documents (to send) by air mail.

o0 E

H“D.OO.\‘.@
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Diagnostic Test

1. Read a text about home design and answer the questions. For questions 1 to 7,
choose the correct answer.
Welcome to the home of the future
The 2009 British Homes Awards challenged the industry to design a house that
can adapt to different life stages. The participants were asked to rethink the
construction and design of individual
homes, so that they were easily
adaptable to less mobile inhabitants,
w484 and also to create communities in
WA which ageing occupants  could
continue to enjoy shared amenities.
The top design also had to be
attractive to its potential buyers,
because the competition was put to the
public vote. The winner, gaining
12,000 votes from Mail on Sunday readers, was the strikingly modern SunnySideUp,
designed by Kosi Architects. Here are its three main features:
1. Upside Down House
The architects took as a starting point the accepted norm for a house — rows of
houses facing onto streets crammed with cars, with living rooms on the ground floor
and bedrooms above. Then they scrapped it. They ended up with the living room,
dining room and kitchen on the top floor where they can benefit from the light and
views, and maximise energy efficiency. And they put the bedrooms on the ground floor
where the garden aspect gives inhabitants increased privacy, and a cool temperature is
maintained throughout the day. The two floors are linked by wide, gentle gradient
stairs, which are designed to allow for a stair lift to be fitted if necessary as owners age.
2. Concealed Parking Spaces
But the feature that, according to Warren Rosing, one of the Kosi architects
responsible for the design, was particularly popular with the public, is actually the
parking. In a SunnySideUp development no one has to look out onto a street full of
cars, or worry about their kids being run over, because the terrace zone at the first floor
level link all the homes and is a car-free zone. Vehicles are tucked away on the lower
floor, leaving safe and pleasant spaces outside the houses for people to meet, and kids
to play. A lift takes people directly from garage to living area, so that all residents,
including the elderly and those with heavy shopping, can move comfortably between
the floors. The natural feel of the front area is enhanced by the planters that are placed
outside the kitchens at the front to encourage residents to grow vegetables and flowers
where they can be seen. The idea is that not only would they look pretty, but they would
be a talking point, encouraging interaction between residents on the terrace area
outside.
3. Flexible Spaces
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But it’s the fact that the space is designed to adapt to the changing needs, including
the fluctuating income of its owners, that makes it a thought-provoking, as well as a
winning, design.

The lower-floor bedrooms have separate outdoor access. The idea is that owners
can get some extra money to pay for their mortgages during the first years. And later
in the future, those bedrooms can be used as a granny flat, or an office, and can easily
be converted into a separate one-bed flat if your kids won’t leave home. And if more
space is required, as well as the usual loft that can be converted, there is potential for a
gallery floor to be inserted in the living room.

4. Where can you get one?

At the moment the SunnySideUp house is still just a set of drawings. But Warren
Rosing says, “We are hoping to have it built.” The organisers are in talks with builders,
but due to the economic climate it may take longer than we would like.”We’re sure it
will be worth the wait” they say.

1. The British Homes Awards challenged architects to design a house ...
a. for disabled people
b. for ageing inhabitants
c. that could adapt to all ages
d. for young families with children
2. In the winning property, bedrooms are downstairs to ...
a. benefit from the view
b. have easier access to the house
c. have more privacy in the living room
d. keep the same pleasant atmosphere the whole day
3. The parking spaces in this house design are ...
a. on the first floor
b. on the ground floor
c. in a separate building
d. in the street
4. In the SunnySideUp house the ground floor ...
a. can be rented
b. can be sold separately
c. is only used to store cars
d. has a room for grandparents
5. We learn from the article that ...
a. children can play safely outside the house
b. the houses overlook a street crammed with cars
c. the back garden is the main talking point for the inhabitants
6. The house has been designed ...
a. to be rented
b. to be shared if necessary
c. for families with a small income
7. the SunnySideUp development ...
a. is being built
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b. will never be built
c. will hopefully be built
d. has been recently built

2. Choose the right variant.
8. President of United States lives in White House in
Washington D.C.
A. —, the, the, —
B. —, the, —, the
C.-,—, the, the
D. The, the, the, —
9. notany glass in the windows, that iswhy _ so cold in the room.
A. There is, it is
B. Itis, there is
C. There are, it is
D. There was, there is
10. When the fog , We to see where we are.
A. lifts, may
B. will lift, will be able
C. lifts, will be able
D. lifts, must
11. You looked very busy when | __ you last night. What __ ?
A. see, do you do
B. see were you doing
C. have seen, are you doing
D. saw, were you doing
12. Mary hasn’t been in London, __ she?
A. hasn’t
B. did
C. has
D. didn’t
13.  breakfast yet? — Yes, | .
A. Did you have, have
B. Had you had, have
C. Have you had, have
D. Do you have, had
14. 1 anew house last year, but I my old house yet, so at the moment | have two
houses.
A. buy, don’t sell
B. bought, haven’t sold
C. have bought, sold
D. had bought, didn’t sell
15. After failing his driving test four times, he finally __ trying to pass.
A. gavein
B. gave off
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C. gave away
D. gave up

16. 1 all of the questions correctly since | began this grammar exercise.
A. am answering
B. answer
C. have answered
D. had answered

17. I have my English class __ Monday morning.
A.in
B. at
C. for
D. on

18. | was late. The teacher _ thetestwhen| _ to class.
A. has already given, got
B. had already given, got
C. has already given, get
D. was already giving, get

19. They can’t have __ more strawberries. | want __ to make jam.
A. some, any
B. no, some
C. any, any
D. any, some

20. We all ____ his story as a joke.
A. thought
B. intended
C. treated
D. found

21. They __ to return next Monday.
A. are sure
B. was sure
C. will be sure
D. would sure

22. My hair ____ very long.
A. grow
B. has grown
C. have grown
D. are growing

23. Nothing was stolen, ___ ?
A. was it
B. wasn’t anything
C. wasn’tit
D. was anything

24. | enjoyed the film last night. .
A. Neither do |
B. Neither did |
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C.Sodol
D. So did |
25. You are always excuses for not___ your homework on time.
A. making, making
B. doing, doing
C. making, doing
D. doing, making
26. | can’t speak French. I wish | .
A. can
B. would
C. could
D. had been able
27. What time does your plane take ?
A. off
B. out
C.to
D. from
28. When | for my passport, | this old photograph.
A. look, found
B. was looking, found
C. will look, will find
D. looked, found
29. 1 tothe theatre for ages.
A. wasn’t
B. hadn’t been
C. won’t be
D. haven’t been
30. Did you notice Nick ____another student’s paper during the exam?
A. looked at
B. to look at
C. has looked at
D. looking at
31. 1 to live with my family, but now I live alone.
A. am used
B. used
C. am accustomed
D. was used

32.You ___ have a passport if you want to travel abroad.
A. have to
B. can
C. may
D. might
33. She said thatshe _ her present flatand ___ to find another,
A. doesn’t like, tried
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B. doesn’t like, was trying
C. didn’t like, was trying
D. doesn’t like, will try

34. If it raining yesterday, we the game.

A. hadn’t been, would have finished
B. wasn’t, will finish

C. weren’t, would have finished

D. weren’t, would finish

35. The new highway sometime next month.
A. has been completed
B. completes

C. will complete
D. will be completed

36. | have always enjoyed travelling. My sister, , prefers to stay home.

A. although

B. though

C. however

D. but
37. What did you buy this computer magazine
software.

A. at

B. on

C.in

D. for
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METOINYECKHUE PEKOMEHJIALIUUA 110 PABOTE C TIPAKTUKYMOM

MEXKYJIBTYPHAA KOMMYHUKAIIUA

KynbTypHble KOHTaKThI — BaXKHBIN KOMIIOHEHT OOIIEHUS Mexay JoabMu. OHu
MO3BOJISIIOT NIPEACTABUTENSIM OJHOM KYJIBTYpbl INO3HAKOMHTHCS C TPaJHMLHAMM,
0ObIYasiMH, MPEACTABICHUSIMU U HOPMaMU IOBCEIHEBHOIO OOILIEHHMS, MPUCYLIUMU
qyKOW  KYyJIbType. OITO  CIOCOOCTBYET YCTAaHOBJIEHHUIO  B3aHMMOIIOHMMAHMS,
MOBBIIIEHUIO 3()(PEKTUBHOCTU COTPYIAHUYECTBA, OOOrallEHUI0 JyXOBHOIO MHPA
JOEH, PAaCIIMPEHUIO UX KPYro3opa.

Kommynuxayus — Heo6X01uMOe yCIOBUE KU3HEAEATEIILHOCTH YEJI0BEKA, O/IHA
3 (yHIAMEHTAIbHBIX OCHOB CYILECTBOBAHMS O0OIIECTBA. ODTUM TEPMHHOM
0003Ha4al0T COBOKYITHOCTh MHOTOOOPa3HBIX CBSI3€H U OTHOIICHUN, BO3HUKAIOIINX B
yenoBeueckoM obmectBe. ConuanbHas KOMMYHUKaIMs — crnenuduyeckas dopma
B3aMMOJEMCTBUS JTI0/IeH 10 Iepeaue HHPOpMaUU IpYT APYTY MPHU MOMOIIH SI3bIKa U
WHBIX 3HAaKOBBIX cucTeM. OIHMM U3 €€ BHUAOB SBIKIETCSI MEKKYJIbTypHas
KOMMYHUKALIUS — B3aUMOJIEUCTBUE JIIOJEH, MPUHALIECKANIUX K pa3HbIM KYJIbTYPHBIM
cooOIIecTBaM, YTO BBIPAXKAeTCsl KaK B HEMOCPEICTBEHHBIX KOHTAKTaX, TaK U B
OIMOCpeNOBaHHbIX (hopMax KomMmmyHuKarwi [ 1,3].

Buabl MeKKYJIbTYPHOU KOMMYHHUKALUM:

egepobanvHan — peueBoe 00IIEeHNE, A3BIK;

eHesepOaIbHAA — MUMUKA, KECThI, TEIOJIBMYKEHUS, O3Bl TeJla, IPUKOCHOBEHUH,
BU3YyaJbHbIE KOHTAKTHI, a TAKXKE 0K 1a, JIEMEHTHI O()OPMIICHHUSI BHEITHOCTH;

enapagepoanbHaa — VHTOHAIMHA, KOHKPETU3HMPYIOIIHE IEPEIaBacMyIo
nH(pOpMaINIO, YTOUHSIOMIME €€ CMbICH (YAUBJICHUE, capkKa3M, HPOHUs), a TaKkKe
rOJIOCOBBIE OTTEHKH, TPOMKOCTb M TEMIT PEYM, BO3IJIAChl, B3I0XH, MOKAUUIMBAHMUS,
cMeX, Iuiay.

MexXKynbTypHass KOMMYHUKAIMsl BbIpa)kaeTcsi B OOMEHE 3HAHUSIMH, HJICSIMHU,
MBICJISIMU, TOHATHSIMHU, SMOLHMSAMHU BBIXOJLIAMHU W3 PAa3HbIX KYJIbTYpHBIX cpea. OHa
OCYIIECTBIJISIETCS. TOCTOSTHHO — MEXKIY TYPUCTAMH U SKUTEISIMU TMPUHUMAIOIICH
CTpaHbl, MUTPAHTAMH M KOPEHHBIM HACEICHUEM, YYACTHUKAMHU MEXKIYHAPOIHBIX
dbopyMOB W TmporpaMM OOMEHa, TIPEACTaBUTEISAMH Pa3JIUYHBIX ATHUYECKHUX
OOITHOCTEH U CYOKYIbTYp BHYTPH OJTHOW CTPAHBI.

DopMbl MEKKYJIbTYPHOI KOMMYHUKAINM:

enpaAmMas — HETMOCPEICTBEHHOE B3aWMOJICHCTBUE TOCPEACTBOM BepOaIbHBIX H
HEBEPOAITBHBIX CPEJICTB OOIICHNUS,

®0nOCpPe00BaHHas — XapakTepU3yeTCcs HaJMYheM TPOMEKYTOYHOTO 3BECHA
MEXIy Y9aCTHHKaMU KOMMYHUKAIUH (TenedoH, mouTa, COIMaIbHas CETh);

®KOC8eHHAA — TIONy4eHHE WHQPOPMAIIMM W3 PA3TUYHBIX HUCTOYHHKOB:
NIPOU3BENICHUH JINTEPATYPHI, HCKYCCTBA, CPEJICTB MACCOBON MH(OPMAITUH.
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Mestckynomyphnas Kommynuxkayusa — 310 cuerududeckas Gopma qesTeIbHOCTH,
KOTOpasi MpeAnoiaraeT 3HaHue:

®UHOCTPAHHOI'0 S3bIKA;

e MATEPUAIBHON U JYXOBHOM KYJIbTYPBI,

®PEIIUTUO3HBIX U CBETCKUX TPAJULINNA;

®[ICHHOCTHBIX U HPABCTBEHHBIX YCTAHOBOK;

®HOpPM MOBEICHUSI U OOIICHHUS, STUKETA,;

®HAIIMOHAJIBHOT'O XapaKTepa U MEHTAJIUTETA.

A3biKk — TIaBHOE CPENCTBO OOIICHHMS MEXAY JIOAbMH, OCHOBHOW HOCHUTENb M
TPAHCIATOP KyJbTYphl. Bce 3HaHUsA, yMEHUs, MaTEpUaAIbHbIE U AYXOBHbBIEC IIEHHOCTH,
HaKaruIMBaeMble HAPOJJaMHU BEKaMH, XPAHITCS B X SI3bIKOBBIX CUCTEMAaX — (DONBKIIOpE,
KHUTaX, YCTHOM M MHCHbMEHHON peuu. B s3bike oOTpaxaroTcs MHOTro0Opa3HbIe
KYJbTYpPHBIE TPAJHUIHMH, MOPAJIbHBIE W OJTHUYECKUE YCTOHM, XOJ HCTOpHUM. S3BIK
bopMUpPYET KYJIbTYPHYIO CpEy, B KOTOPOU KHUBET YeIOBEK [2].

Kaxnplii A3bIK — 3TO YHUKaJIbHAs CHCTEMAa CUMBOJIOB, C IOMOLIBIO KOTOPOM OJTHH
JIOAM KOAUPYIOT U NepeatoT HHPOpMaInIo, a IPYrue ee MPUHUMAIOT U IEKOAUPYIOT.
OTOT KO/, a TaKKe MPUHIUIBI KOAUPOBAHUSA U JAEKOAUPOBAHUA (HOPMHUPYIOTCS O]
HEIOCPEACTBEHHBIM BO3JAEHCTBUEM KYJIBTYPBI, SIBJISIOTCS €€ OTPAKEHUEM. Y YaCTHUKHU
BHYTPUKYJIBTYPHOU KOMMYHUKALMU HCHOJIB3YKOT OAWH M TOT K€ KOJA. YYaCTHUKHU
MEXKYJIbTYPHOH KOMMYHHMKALIMH, HCIOJIb3ys] COOCTBEHHBINM S3BIKOBOM KOA H
KYJIbTYpPHBIE YCTAHOBKH, OJHOBPEMEHHO MBITAIOTCS YUYUTBHIBATH SI3BIKOBOW KO H
KYJbTYPHBIC YCTAHOBKHU HMPOTUBOIIOJIOXKHON CTOPOHHI [2, 4].

JList 3pPpexTBHON KOMMYHUKALIMK OOJIBIIOE 3HAUECHUE UMEET MEMHCK)IbMYPHAs
KOMRemeHmHocms — ClIOCOOHOCTh BOCIIPUHUMATh UYKYIO KYJIbTYpY, HE yTpauuBas
COOCTBEHHOM KYJIbTYpHOU UACHTHUHOCTH. [loHsSITHE BKITIOUAET B ceOs:

e0JIarokeNnaTeIbHOE U YBAXKUTEIIBHOE OTHOIICHUE K UYXKOU KYJIbTYPE;

®3HAaHUE OCOOEHHOCTEW YYKOW JMHTBOKYJIBTYPHOW CpEabl WM CHOCOOHOCTH
JOCTUTaTh yclexa B OOIIEHWHU C MPEACTABUTEISIMU APYTUX KYJIbTYp Jaxe IpHu
HEXBATKE HEOOXOAMMBIX 3HAHH;

®[10JIOXKUTEIBHBIN OMBIT OOIIEHUS C MPEJCTABUTEISAMU APYTUX KYIBTYP;

®BJIAJICHUE CTPATETUSIMU MEXKKYJIbTYPHBIX KOHTAaKTOB, HAIPaBJICHHBIMH Ha
YCHENIHOE TPOTEKaHNE B3aUMOJCHCTBUS — TMOOYXIEHHE K PEUEBOMY OOIICHHIO,
TOTOBHOCTh K TOHHMMAHMIO, BBISIBIICHUE CUTHAJIIOB HEMOHHMMAHMS, TOUCK OOIIUX
KYJIbTYPHBIX 3JIEMEHTOB.

Kynbrypa 00mIeHHS KOMMYHHUKAHTOB IOMOTaeT M30eXaTh KOMMYHUKATHUBHBIX
Heyaad u KoHMaukToB [9, 8, 10]. Ona mpeanosnaraer:

e TEPIIUMOCTh K HETIOXOXKECTU PYT APYra, IPUHATUE PAa3IU4Ui B CTUJIE )KU3HH,
OJIEK/1€, MBILLUICHUY;

®[IPEOJOJICHUE CTEPEOTUIIOB B OTHOIIEHUH APYrOro HApOAa U €T0 KYJIbTYPBI;

®HTEPEC U OTKPBITOCTh HOBOMY U HEM3BECTHOMY.

69



MestcKynomyphan KOMMYHUKayus — 370 HAOOpP HABBIKOB, KOTOPBIMU MOXXHO U
HY)KHO BJaJ€Th. JTO OCOOEHHO BaXXHO I JIOJEH, 4bsid MpoQecCuOHATbHAS
JEATENbHOCTD CBsI3aHa c MEXKYJIbTYPHBIMU B3aUMOJCHUCTBUSIMH, a
KOMMYHUKATHBHBIC ONIMOKKM W HEyJa4dl MPUBOIAT K MPOBAJIAM B TIEPETOBOpaX,
HedhpekTuBHONM padoTe KOJNIEKTHBA, MEXKITHUYECKUM KOH(IHMKTaM. [aBHas
NpUYMHA KOMMYHHMKATHBHBIX HEyJad — BOCIPUITHE KOMMYHHUKAHTAMHM UYXkKOM
KyJbTYpbl CKBO3b MNpu3My CBOeW. JlIsi TpeomosieHuss 3TOW OrpaHHUYEHHOCTH
MEXKYJIbTYPHONH KOMMYHHUKAIIMU HY>KHO YUUTHCS.

IIPO®ECCHOHAJIbHBIH UMHJIK

B ycioBusiXx COBpEMEHHBIX TEHAEHUMUW pPa3BUTUS POCCHMCKOIO BBICHIETO
oOpa3oBaHHUs, a TakK)K€ MHUPOBOW TEHJICHIIMHU TJI00AIU3aluu 0CO0YI0 BaKHOCTHb H
aKTyaJIbHOCTh MPUOOPETAIOT BOMPOCHI YIPABICHHUS KauyeCTBOM OOpa3OBaHMS B BY3e,
€ro KOHKypeHTocmocoOHocTH. OOpa3oBaTeNbHBIC  YUPEKICHHS  BBIHYXKICHBI
pa3pabaThiBaTh U BHEAPSTH B COOCTBEHHYIO MPAKTUKY CUCTEMY MAPKETUHIa, KOTOpast
HanOosee 23(HEeKTUBHO MO3BOJISET TIAHUPOBATH, OPTAaHU30BBIBATH U KOHTPOJIUPOBATH
yCWIHsl y4eOHOTO 3aBEJEHUS 1O OCYIIECTBICHUIO CBOEH JIEATEILHOCTH B YCIOBUSIX
KOHKYpeHiuu [6, 7].

B croxuBIUMXCS yCIOBUSAX CTPATErMYECKH MBICIAIIME aJIMUHUCTPAIUU U
KOJUIGKTUBBI ~ YUPEKIECHUN BBICIIET0 OOpa30BaHMS CTApalOTCS  HCIOIb30BaTh
COBPEMEHHBIC TEXHOJIOTMH YIPABJICHHS, TOBBIMIAIONIAE TOTECHIMAN CTYACHTOB
TeXHUYECKUX BY30B, OJHOM M3 TakKUX TEXHOJOTHM (opMHpYIOLIEH YCIENTHOrO
TEXHUYECKOTO CIICIMAIIMCTA, BBITYCKHUKA BY3a SIBIISICTCS TEXHOJOTHUS WUMHUIKCBOU
paboThl WM WMMMDKMEWKHHIa TIPEJCTaBIA0mas co00H cHucTeMy NpoUeayp M
orepalii, HampaBJICHHBIX HAa (POPMHUPOBAHNE U PACIIPOCTPAaHEHUE MPUBIICKATEIIEHOTO
obpasa Oynyuero cnernuanucra [5, 11, 14, 20].

VYcneniHoe MNpoJBHXKEHHE HMMHKA (HOPMHUPYET TMPHUBIICKATENbHBIA IS
norpebutener w  pabortamareneld  oOpa3  cmenuanucra  npodeccuoHana,
[IpodeccrnonanbHbIil UMUK TIPEACTABISIET COOOM OJIUH U3 d(DPEKTUBHBIX CIIOCOOOB
PEeUH)KMHUPUHTA  BY30BCKOM  Cpenmbl, OOECIECYMBAIOIIETO  HAapallUBaHWE |
MOOMIIM3AIMI0 BHYTPEHHUX pECypcOB B HWHTEpecax TMOBBIIICHUS KadyecTBa
npodeccuoHaabHOro oopasosanus [12, 15,17, 19] .

B Hactosiiiee  BpemMsi  HET  €IMHOrO  OONICOPUHSATOrO  TMOHATHS
npo(ecCHOHATBPHOTO MMUKA, K H3YYEHUIO KOTOPOrO0 TOJIBKO TPHUCTYIAET
nejarorndeckass Hayka. B Hacrosimee BpeMs B cdepe T'yMaHUTApPHOTO 3HAHMS
CJIOKWIJIOCH HOBOE Hay4dyHOE HampaBiieHHe — npodeccruonanbHas uMmumkenorus. Ona
MpU3BaHa pa3padaThiBaTh W HUCIOJIB30BaTh TCOPHUI0 M TMPAKTHKY MPOCKTHPOBAHUS
npo(ecCHOHAaTBFHOTO HWMH/KA HE3aBUCUMO OT KOHKPETHOTO BHJA JEATEIHLHOCTH
cneruanucrta. [IpogeccuoHanbHbIl UMUK HAMPSIMYIO CBA3aH C MPO¢ecCHOHAIbHON
JESITENHHOCTHIO YEIOBEKA, OH SBJSETCS BAXHOW YacThio TMPOodecCHOHATHHOM
KyJlbTypsl cnienmanucta [ 13, 16, 18]. CoBpemeHHbIe phIHOYHBIE OTHOIICHUS U3MEHWIIH
MOIX0 K TPeOOBaHUSAM TPEABIBISIEMBIM CIEIUATUCTaM, ¥ TPOodheCCHOHATHHBIN
UMUK SIBIIIETCS OJHHMM W3 OCHOBHBIX AaCIEKTOB YCIEIIHOTO0 KaphepHOTO pOCTa
cnenuanucra [21, 22].
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UccnenoBanusi npodecCUOHANBHOTO HMMUKA TPOBOAATCS B Pa3HBIX
HaNpaBJIEHUSAX B 3aBUCUMOCTHU OT OIpeNieleHHON npodeccun (meaaror, CouuaaibHbIi
PabOTHHK, MOJTUTOJIOT, TICUXOJIOT).

W3BectHO, 4TO  mpO(ECCHOHANBHBIM UMUK  HUMEET  CJIOXKHYIO
MHOTOKOMIIOHEHTHYIKO ~ CTPYKTYpPY, B COCTaB KOTOPOM BXOISIT OCHOBHBIE
COCTABJIAIOIINE JIMYHOCTH CHEUUaNUCTa (MHTEIJIEKT, TEMIIEPAMEHT, SMOIIMOHAIbHAS
cdepa, HpaBCTBEHHAs cdepa, ICUXUIECKOE COCTOSTHUE U T.J.), €r0 CTPYKTypa UMEET
OIpECIICHHbIE YPOBHU M KPUTEPUU CPOPMUPOBAHHOCTH B JIMYHOCTU OYAYIIErO
crenuanucTa. Teoperuueckuii aHanus, nposeneHublii A.Il. TlandumnoBoii, mokasan,
4YTO MpPO(PEecCHOHATBHBI HMMUIK CIENUaTUCTa HEOOXOIMMO TNPOEKTHPOBATH B
o0pa3oBaTeIbHOM MPOLIECCEe U J1aliee B MPo(ecCHOHANIBHOM NeATeIbHOCTH, paboTa HaJL
€ro Co3JaHueM JOJDKHA OBbITh TMOATANHOM, C YCTAHOBJIEHHOHN LENbI0 M 3aJladaMH,
pelleHre KOTOphIX OyAeT CHnocoOCTBOBaTh MPABUIBHOMY MPOEKTHPOBAHUIO
npoheCCUOHATBLHOrO HMHTXKA [26, 27].

[lo HamiemMy MHEHHIO, OCHOBHBbIE€ KOMIIOHEHTHI MPOPECCUOHAIBHOIO UMHUJKA
COOTBETCTBYIOT KOMIIOHEHTaM HMMJ)Ka, HO M BKIIOYAaE€T B €0 DJIEMEHTHI,
oTpaXkarolue OmnbIT MpodeccuoHanbHoOl nesrenbHOCTH [2, 24]. TlosTomy
npo(ecCHOHaNbHbIl HMMWIK BBUAY cHeUUPUKH Npodeccud HUMEET Ppa3Hoe
HaToJHEHHE CTPYKTYPHbIX KOMIOHEHTOB. [Ipodeccuonanbhas cpena, yciaoBus Tpyaa,
COLIMATILHOE OKPYEHHUE BCE ATO B COBOKYITHOCTH MOJKET CIY>KUTh OCHOBAaHUEM IS
MPOEKTUPOBAHUSA OIPENETIECHHOrO MPOPECCHOHATHFHOI0 UMHIXKA crieruanucra [9, 23,
25]. Or cmnenuaiancToB pa3HBIX O0JACTeH JIEATEIbHOCTH OOIECTBO OXKHIAET
OIPECIICHHBIX XapaKTEPUCTHK U MPOSBISEMbIX KAaU€CTB JIMYHOCTH. 11 TOro 4T00bI
COOTBETCTBOBATh COBPEMEHHOMY COIIMAJIbHOMY 3aKa3y OOILecCTBa, CHELHAIUCTY
HEO0OXOIMMO UMETh HE TOJIBKO BBICOKYIO KBAIM(DHUKALKUIO, HO U COOTBETCTBYIOIIMIA
IpEICTaBICHUAM OOJBIIMHCTBA BHEIIHUN BHJ, a TakKkKe MaHepy OOILIeHUs U
noBenenus [11, 16, 24, 27].

Hpyrumu cioBamu, npo(hecCHOHANbHBIM UMUK — 3TO OTBET Ha COLIMAJIbHBIN
3aKa3 oOIIecTBa, TPEOYIOMUNA KBaTU(UIIMPOBAHHOTO, KOHKYPEHTOCIIOCOOHOTO,
MOOMJIBHOTO  CHEUUAINCTAa, aJallTUPOBAHHOTO K COBPEMEHHBIM  PBIHOYHBIM
orHomenusM [7, 8, 9]. B moboii mpodeccun ecTh ONpeAeNeHHbIH CTaHaapT
MPEAbABISEMbId CIELHUATUCTY (BHEIIHUM BHUJ, KayecTBa JMYHOCTH), COOTBETCTBHE
KOTOPOMY SIBJIIETCSI TapAHTHEN YyCHEIIHOW TPYAOBOW AEATEIBHOCTH YesoBeka [26].
Yepes npoeKTUpOBaHUE CBOETO MPO(PECCHOHATBHOIO UMUK YEITOBEK OCO3HAET CBOIO
NESTENbHOCTh KaK CpEACTBO peaju3allid M CaMOBBIpAXKEHHS B mpodeccud U
o01ecTBe.
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IHEPEBO/I TEKCTOB

HpI/I MnepeBOAC TCKCTOB IIOMHHUTC O CICAYIOIICM

1. Tekct, npeqHa3HaueHHbIN IS IEpPEBOAA, HEOOXOAMMO paccMaTpUBATh KaK
€IMHOE CMBICIIOBOE LIENOE.

2. Hauunare mnepeBoj Hano C Ha3BaHUs TekcTa. OJHAKO, €CIM IEpPEeBOJ
3arjaBusl BBI3bIBAET 3aTPYAHEHHMSI, €0 MOXHO OCYHIECTBUTH MOCJE MEPEBOAA BCErO
TEKCTA.

3. Ilpexne yeMm nepeBOAUTH TEKCT, BHUMATEIbHO MPOUYTUTE €ro, CTapasch
MOHATH €ro oolIee cojepaHHe M HalpaBieHHOCTh. OOpamiailTe BHUMaHHE Ha
MHTEPHALMOHAJIbHBIE CII0BA, PEAJIUH, ATkl U T.1I.

4. IlpountaiilTe BeCh TEKCT, MNPUCTyNaUTE K TNEPEBOAY OTACIbHBIX
npegioxkeHuil. TIoHATh mpeuiokKeHre — 3HAYUT BBIICHUTh HE TOJIBKO 3HAYCHHE
Ka)KJIOTO CJIOBA, HO M YCTAaHOBUTH, B KAKOW CBA3M HAXOMAATCS APYT ¢ Ipyrom ciosa. He
CJIEYET BBIIIMCHIBATH CJIOBA CPa3y U3 BCETO TEKCTA, TaK KAK OJJHO U TO K€ CJIIOBO YacTO
UMEET HECKOJIbKO 3HAYE€HUM, KOTOPBIE HE MOAXOAAT JUIsl JAHHOT'O TEKCTA.

5. IlepBoHayanbHbIl MEpPEeBOA MOXKET OBITH JOCIOBHBIM, OOJETYarOIINM
[IOHUMaHUE OCHOBHOI'O CMBICJIA TEKCTA. 3aTeM CIENyeT IMPUCTYNHUTh K €ro
CTWJIMCTUYECKOM, JUTEpaTypHOU 00paboTKe, Il 4ero Hajo MOAOMpATh CIIOBA U
CIIOBOCOYETaHUs, Hauboyiee YEeTKO Mepelaolue CMBICI IEePEeBOJUMOrO TEKCTa.
[lepeBoa noKEH OBITH TOYHBIM, a HE OYKBaJIbHBIM, JOCIOBHBIM. TOYHOCTH MEPEBOA
— 3TO KpAaTKOCTbh, BBIPA3UTEIBHOCTh, JIOTHUECKAsl IOCIIEI0BATEIbHOCTb, YETKOCTb
U3JI0KEHUS TEKCTa OPUTMHAJIa U COOTBETCTBUE €r0 HOPMaM PYCCKOI'O JIUTEPaTypHOIO
A3bIKAa. DyKBAJIbHBIM NEPEBOJ CBOJMTCS K MEXAHMYECKOW IOJICTAHOBKE PYCCKOTO
CJIoOBa BMECTO AaHIVIMMCKOro 0Oe3 ydera €ro CBS3U B IPEIJIOKEHUH, YTO OOBIYHO
HMPHUBOIUT K OECCMBICITUIIE M HCKAKEHHUIO CMBICTIa MepeBoauMoro Tekcra [1,3, 5, 6].

[Ipu nepeBoae nomyckaercs:

) U3MEHECHHUE TIOPSIJIKA CIIOB B MPEIIOKESHUH

b) mepeHoc OTEIBLHOrO CJI0BA U3 OAHOTO MPEIJIOKEHUS B IPYTOe,

C) oObeIMHEHUE IBYX WM 00JIee PE/JIOKEHUI B OTHO MJIM HA000pOT

d) no6aBneHrEe OTCYTCTBYIONIMX B TEKCTE CJIOB, HO TPEOYEMBIX 110 CMBICITY CJIOB
1, HA000POT, OIYIIEHNE OTJCIIBHBIX CJIOB OPHTHHAILHOTO TEKCTa Ha PYCCKOM SI3BIKE,

€) 3aMeHa OJIHO¥ YacTu peun apyroii [4,14, 22].

[Ipu nepeBojie MOIB3yUTECH CIOBAPEM.

Uro0OsI paboTa co ciIoBapeM HE OTHUMaJIa MHOTO BPEMEHHU, CIIEYET:

v\ Xopomo 3HaTh aja(aBUT, TaK KaK CIOBA DPAaCIOIOKEHBI B al(aBUTHOM
MOpsZIKE HE TOJBKO IO MepBOil OyKBE, HO U MO BCEM MOCIEAYIONINM;

v\ [IOMHHUTbH, YTO CJIOBA JaHbl B MX HMCXOIHON (OpMe, T.e. IIarojibl — B
WH(OUHUTHUBE, CYIIECTBUTEIbHBIE — B OOIIEM TNaAeke, EIUHCTBEHHOM 4YHUCIE,
MPUJIAraTelIbHOE — B MOJIOKUTENBHOM cTeneHu. [locne kaxaoro cioBa B ClIoBape
HCIIOJIb3YETCS COKpaIlleHne, 0003HavaroIIee MPUHAIIICKHOCTh CJI0BA K OMPE/IeICHHOM
yactu peuu [15, 23, 27].

72



adjective a. pUIaraTeibHOe
adverb adv. Hapedne
conjunction Cj. COI03
noun n CYIIECTBUTEIILHOEC
numeral num YHCIUTCIILHOC
plural pl MHOYKECTBEHHOE YHCIIO
preposition prep IpeJior
pronoun pron MECTOMMEHHE
verb Y TJIaroj

Caenyer noMHUTH!!!

Henp3s 3moynorpebiasats ON-line mepeBomunkaMu, a eCiiM UCHONB3YETe X, TO
HeoOXOMMa cephe3Has pelakTypa rmepeBeieHHoro Tekcra [2,19, 20, 21,25]!!

Tak, manmpumep, Google Translate (http://translate.google.com/) — ato cucrema
CTaTUCTUYECKOr0 MAIIMHHOTO TIepeBojia, 4To o3Hadaer, uyto GT-cucrema He
aHAIIM3UPYET CUHTAKCUC TEKCTAa Ha OCHOBE KAKMX-TO CTPYKTYpPHBIX mipaBui [16, 45].
Omna BbIZIaeT HanOoJIee BEPOSITHBIN MEPEBO/T MPEAJIOKEHUS WITH CII0BA, OCHOBAHHBIN Ha
CTAaTUCTHKE HAKOIUICHHBIX YEJIOBEUECKUX MEPEBOAOB. B OCHOBE aHanmu3a mpu 3TOM
4acTo JIeKAT KOPOTKUE LIETIOYKHU BCEr0 U3 HECKOIBKHUX CI0B. DTO O3HAYAET, YTO KOrAa
CUCTEME HE XBaTA€T JAHHBIX JIJIs1 KOMILUIEKCHOTO CTATUCTUYECKOr O aHAIU3a UK KOoraa
B SI3bIKaX OpUTHHANIA M TIEPEBOMIA CYIIECTBEHHO pa3juvacTcsi MopsaoK ciioB, To GT
BbIJIaeT TapaOapIIMHy WK MPOCTO MEPEHOCUT B MEPEBOJ TE CIIOBAa OpHUTHHAA, IS
KOTOPBIX Yy HEE HET NepeBo/Ia.
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PABOTA HA/T JIOKJIA/IOM / BBICTYIUVIEHUEM

Jokaaa, coriiacHO TOJIKOBOMY CJIOBapro pycckoro s3eika J[.H. VYmakosa:
COOOIlEHHE MO 3aJaHHOM TeMme, C 1EeJbl0 BHECTHM 3HAHUS W3 JOMOJHUTEIHHOU
JUTEpaTypbl, CUCTEMAaTU3UPOBATHL MAaTEpPUi, MNPOWLIIOCTPUPOBATh MPUMEPAMH,
pa3BUBaTh HAaBBIKM CaMOCTOSTEIBHOM pabOThl C HAydyHOW JIMTEpaTypoil,
MO3HABATEIbHBIM HMHTEPEC K HAydyHOMY IMO3HaHUIO. Tema JoKiana J0omKHA OBITh
COrJlacOBaHHA C TIPErmojaBaTeleM M COOTBETCTBOBATh TEeME YYEOHOTrO 3aHSATHS.
Marepuaisl npu ero NoAroTOBKE, JTOJKHBI COOTBETCTBOBATh HAYYHO-METOANYECKUM
TpeOOBaHMIM By3a M OBITh YKa3aHbl B Aokiane. Heooxomumo coOmroaaTh peraaMeHT,
OrOBOPEHHBIN MTPH NOJTy4eHUH 3aianust. VnmocTpauu JoIKHBI ObITh TOCTaTOYHBIMH,
HO He upe3MepHbIMH. Pabora cTyjaeHTa Haa JOKJIAJOM-IPE3CHTAIMEH BKIIIOYACT
OTpabOTKy YMEHHsI CaMOCTOATENbHO 00001aTh Marepuag M JelaTh BBIBOJBI B
3aKJIFOUCHUH, YMEHHUS OPUCHTUPOBATHCS B MaTepHalie M OTBEUATh HA JIOMOJIHUTEIbHBIE
BOIIPOCHI CITyIIaTeNnei, oTpabOTKy HAaBBIKOB OpPAaTOPCTBA, YMEHHS MTPOBOJIUTH JHUCITYT.
JIOKJTaTYuKH JOJIKHBI 3HATh U YMETh: COO0IIaTh HOBYIO HMH(POPMALIUIO; UCTIOIb30BATh
TEXHUYECKUE CPEICTBA; XOPOIIO OPUEHTHUPOBATHCS B TEME BCETO CEMUHAPCKOTO
3aHATHS; JUCKYTHPOBaTh W OBICTPO OTBEYaTh Ha 3aJaHHBIE BOIPOCHI; UYETKO
BBITIOJTHATh YCTAHOBJICHHBIN perjiameHT (He Oonee 10 MUHYT); UMETh NMPECTaBICHUE
0 KOMITO3HMIIMOHHOW CTPYKTYype JAoKiana u ap. [4, 8, 11,26].

CTpykrypa BbICTYyIJIEHHsI. BcTymieHne moMoraeT o0O0CCICUHTh —YCIex
BBICTYIUICHUS TIO0 JIFOOOW TeMmaThke. BCTymieHune MOMKHO COAepKaTh: Ha3BaHUE,
COOOIIICHNE OCHOBHOW HJICH, COBPEMEHHYIO OICHKY MpeaMeTa M3JI0KEHHUS, KpaTKoe
MePEUNCIICHNE PACCMaTPUBAEMBIX BOIIPOCOB, KUBYIO HHTEPECHYIO (DOPMY H3T0KECHHUS,
aKIICHTUPOBAaHWE BHUMAHHMS Ha BaXHBIX MOMEHTAaX, OPUTMHAIBHOCTH IOAXOA.
OcHOBHasi 4acTh, B KOTOPOH BBICTYMAIONMIUNA JODKCH TJIyOOKO PaCKpBITh CYTh
3aTPOHYTOM TeMbI, 0OBIYHO CTPOUTCS 10 MPHUHITUITY OTYETA. 3a/1a4a OCHOBHOM YacTH —
NPEJICTaBUTh JIOCTATOYHO JIAHHBIX JIJISI TOr'O, YTOOBI CIYIIATEIN 3aWHTEPECOBAIINCH
TEMOH M 3aXOTENIn 03HAKOMHUTHCS ¢ MaTepuanaMu. [Ipu 3ToM norudeckas CTpykTypa
TEOPETUYECKOro OJIOKa HE JODKHBI JaBaThbCcs O€3 HarIsIHBIX MOCOOWH, ayaHo-
BU3YaJIbHBIX U BU3YyaJbHbIX MAaTEpUATIOB. 3aKIOYEHHUE - ICHOE, YETKOE 0000I1IEeHNE U
KpaTKHE BBIBOJIbI, KOTOPHIX BCETAa *KAYT CIYIIATEIIH.
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